

Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Request for Quotation 19 — Highways

P	roc Folder: 619514		
D	oc Description: CORR	UGATED METAL CULVERT PIPE- SUPPLEMENTAL	
•	oc Type Central Maste	er Agreement	
Date Issued	roc Type: Central Maste Solicitation Closes	Solicitation No	Version

BID RECEIVING LOCATION

BID CLERK

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON WW 25305

US

Vendor Name, Address and Telephone Number:

Lane Enterprises, FACI

P.O. Box 854

Barbarsville WN 25504

304-416-1806

Page: 1

FORM ID: WV-PRC-CREQ-001

ADDITIONAL INFORMATIONS:

THE WEST VIRGINIA PURCHASING DIVISION IS SOLICITING BIDS ON BEHALF OF THE WEST VIRGINIA DIVISION OF HIGHWAYS TO ESTABLISH AN OPEN-END CONTRACT TO PROVIDE VARIOUS TYPES AND SIZES OF CORRUGATED METAL CULVERT PIPE FOR USE AT LOCATIONS THROUGHOUT THE STATE OF WEST VIRGINIA PER THE ATTACHED DOCUMENTS.

b ".

INVOICE TO		SHIP TO SECOND	
VARIOUS AGENCY L AS INDICATED BY OF		STATE OF WEST VIRGINIA VARIOUS LOCATIONS AS INDICATE	D BY ORDER
No City	WV99999	No City	WV 99999
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
	CORRUGATED METAL CULVERT PIPE- SUPPLEMENTAL	0.00000	EA		101011100

Comm Code	Manufacturer	Specification	Madal #	
40171500		S Promogram	Model #	

Extended Description:

CORRUGATED METAL CULVERT PIPE- SUPPLEMENTAL-6620C011 PER THE PRICING PAGES ATTACHED

T44 34 04 F 15 FF 16	E 26 7 "42	*********	56 A
BCHEDULE	Aug 1	776 J (ME) 3	1.4

<u>Line</u>	Event	Event Date	7.94
1	VENDOR QUESTION DEADLINE	2019-10-03	

INSTRUCTIONS TO VENDORS SUBMITTING BIDS

- 1. REVIEW DOCUMENTS THOROUGHLY: The attached documents contain a solicitation for bids. Please read these instructions and all documents attached in their entirety. These instructions provide critical information about requirements that if overlooked could lead to disqualification of a Vendor's bid. All bids must be submitted in accordance with the provisions contained in these instructions and the Solicitation. Failure to do so may result in disqualification of Vendor's bid.
- 2. MANDATORY TERMS: The Solicitation may contain mandatory provisions identified by the use of the words "must," "will," and "shall." Failure to comply with a mandatory term in the Solicitation will result in bid disqualification.

3. PREBID MEETING: The item identified below shall apply to this Solicitation.	
A pre-bid meeting will not be held prior to bid opening	
A MANDATORY PRE-BID meeting will be held at the following place and time:	

All Vendors submitting a bid must attend the mandatory pre-bid meeting. Failure to attend the mandatory pre-bid meeting shall result in disqualification of the Vendor's bid. No one person attending the pre-bid meeting may represent more than one Vendor.

An attendance sheet provided at the pre-bid meeting shall serve as the official document verifying attendance. The State will not accept any other form of proof or documentation to verify attendance. Any person attending the pre-bid meeting on behalf of a Vendor must list on the attendance sheet his or her name and the name of the Vendor he or she is representing.

Additionally, the person attending the pre-bid meeting should include the Vendor's E-Mail address, phone number, and Fax number on the attendance sheet. It is the Vendor's responsibility to locate the attendance sheet and provide the required information. Failure to complete the attendance sheet as required may result in disqualification of Vendor's bid.

All Vendors should arrive prior to the starting time for the pre-bid. Vendors who arrive after the starting time but prior to the end of the pre-bid will be permitted to sign in, but are charged with knowing all matters discussed at the pre-bid.

Questions submitted at least five business days prior to a scheduled pre-bid will be discussed at the pre-bid meeting if possible. Any discussions or answers to questions at the pre-bid meeting are preliminary in nature and are non-binding. Official and binding answers to questions will be published in a written addendum to the Solicitation prior to bid opening.

4. VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Purchasing Division. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are nonbinding.

Submitted e-mails should have solicitation number in the subject line.

Question Submission Deadline: October 3, 2019 at 10:00 AM EST

Submit Questions to: Crystal Hustead

2019 Washington Street, East Charleston, WV 25305

Fax: (304) 558-4115 (Vendors should not use this fax number for bid submission)

Email: Crystal.G.Hustead@wv.gov

- 5. VERBAL COMMUNICATION: Any verbal communication between the Vendor and any State personnel is not binding, including verbal communication at the mandatory pre-bid conference. Only information issued in writing and added to the Solicitation by an official written addendum by the Purchasing Division is binding.
- 6. BID SUBMISSION: All bids must be submitted electronically through wvOASIS or signed and delivered by the Vendor to the Purchasing Division at the address listed below on or before the date and time of the bid opening. Any bid received by the Purchasing Division staff is considered to be in the possession of the Purchasing Division and will not be returned for any reason. The Purchasing Division will not accept bids, modification of bids, or addendum acknowledgment forms via e-mail. Acceptable delivery methods include electronic submission via wvOASIS, hand delivery, delivery by courier, or facsimile.

The bid delivery address is:
Department of Administration, Purchasing Division
2019 Washington Street East
Charleston, WV 25305-0130

A bid that is not submitted electronically through wvOASIS should contain the information listed below on the face of the envelope or the bid may be rejected by the Purchasing Division.:

SEALED BID:

BUYER: Crystal Hustead

SOLICITATION NO.: CRFQ DOT2000000033 BID OPENING DATE; October 16, 2019 BID OPENING TIME: 1:30 PM EST

FAX NUMBER: 304-558-3970

The Purchasing Division may prohibit the submission of bids electronically through wvOASIS at its sole discretion. Such a prohibition will be contained and communicated in the wvOASIS system resulting in the Vendor's inability to submit bids through wvOASIS. Submission of a response to an Expression or Interest or Request for Proposal is not permitted in wvOASIS.

For Request For Proposal ("RFP") Responses Only: In the event that Vendor is responding to a request for proposal, the Vendor shall submit one original technical and one original cost proposal plus
BID TYPE: (This only applies to CRFP) Technical Cost

7. BID OPENING: Bids submitted in response to this Solicitation will be opened at the location identified below on the date and time listed below. Delivery of a bid after the bid opening date and time will result in bid disqualification. For purposes of this Solicitation, a bid is considered delivered when confirmation of delivery is provided by wvOASIS (in the case of electronic submission) or when the bid is time stamped by the official Purchasing Division time clock (in the case of hand delivery).

Bid Opening Date and Time: October 16, 2019 at 1:30 PM EST

Bid Opening Location: Department of Administration, Purchasing Division 2019 Washington Street East Charleston, WV 25305-0130

- 8. ADDENDUM ACKNOWLEDGEMENT: Changes or revisions to this Solicitation will be made by an official written addendum issued by the Purchasing Division. Vendor should acknowledge receipt of all addenda issued with this Solicitation by completing an Addendum Acknowledgment Form, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.
- 9. BID FORMATTING: Vendor should type or electronically enter the information onto its bid to prevent errors in the evaluation. Failure to type or electronically enter the information may result in bid disqualification.
- 10. ALTERNATE MODEL OR BRAND: Unless the box below is checked, any model, brand, or specification listed in this Solicitation establishes the acceptable level of quality only and is not intended to reflect a preference for, or in any way favor, a particular brand or vendor. Vendors may bid alternates to a listed model or brand provided that the alternate is at least equal to the model or brand and complies with the required specifications. The equality of any alternate being bid shall be determined by the State at its sole discretion. Any Vendor bidding an alternate model or brand should clearly identify the alternate items in its bid and should include manufacturer's specifications, industry literature, and/or any other relevant documentation demonstrating the

Revised 08/15/2019

equality of the alternate items. Failure to provide information for alternate items may be grounds for rejection of a Vendor's bid.

This Solicitation is based upon a standardized commodity established under W. Va. Code § 5A-3-61. Vendors are expected to bid the standardized commodity identified. Failure to bid the standardized commodity will result in your firm's bid being rejected.

- 11. EXCEPTIONS AND CLARIFICATIONS: The Solicitation contains the specifications that shall form the basis of a contractual agreement. Vendor shall clearly mark any exceptions, clarifications, or other proposed modifications in its bid. Exceptions to, clarifications of, or modifications of a requirement or term and condition of the Solicitation may result in bid disqualification.
- 12. COMMUNICATION LIMITATIONS: In accordance with West Virginia Code of State Rules §148-1-6.6, communication with the State of West Virginia or any of its employees regarding this Solicitation during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited without prior Purchasing Division approval. Purchasing Division approval for such communication is implied for all agency delegated and exempt purchases.
- 13. REGISTRATION: Prior to Contract award, the apparent successful Vendor must be properly registered with the West Virginia Purchasing Division and must have paid the \$125 fee, if applicable.
- 14. UNIT PRICE: Unit prices shall prevail in cases of a discrepancy in the Vendor's bid.
- 15. PREFERENCE: Vendor Preference may be requested in purchases of motor vehicles or construction and maintenance equipment and machinery used in highway and other infrastructure projects. Any request for preference must be submitted in writing with the bid, must specifically identify the preference requested with reference to the applicable subsection of West Virginia Code § 5A-3-37, and should include with the bid any information necessary to evaluate and confirm the applicability of the requested preference. A request form to help facilitate the request can be found at:

http://www.state.wv.us/admin/purchase/vrc/Venpref.pdf.

- 15A. RECIPROCAL PREFERENCE: The State of West Virginia applies a reciprocal preference to all solicitations for commodities and printing in accordance with W. Va. Code § 5A-3-37(b). In effect, non-resident vendors receiving a preference in their home states, will see that same preference granted to West Virginia resident vendors bidding against them in West Virginia. A request form to help facilitate the request can be found at: http://www.state.wv.us/admin/purchase/vrc/Venpref.pdf.
- 16. SMALL, WOMEN-OWNED, OR MINORITY-OWNED BUSINESSES: For any solicitations publicly advertised for bid, in accordance with West Virginia Code §5A-3-37(a)(7) and W. Va. CSR § 148-22-9, any non-resident vendor certified as a small, womenowned, or minority-owned business under W. Va. CSR § 148-22-9 shall be provided the same preference made available to any resident vendor. Any non-resident small, women-owned, or minority-owned business must identify itself as such in writing, must submit that writing to the

Purchasing Division with its bid, and must be properly certified under W. Va. CSR § 148-22-9 prior to contract award to receive the preferences made available to resident vendors. Preference for a non-resident small, women-owned, or minority owned business shall be applied in accordance with W. Va. CSR § 148-22-9.

- 17. WAIVER OF MINOR IRREGULARITIES: The Director reserves the right to waive minor irregularities in bids or specifications in accordance with West Virginia Code of State Rules § 148-1-4.6.
- 18. ELECTRONIC FILE ACCESS RESTRICTIONS: Vendor must ensure that its submission in wvOASIS can be accessed and viewed by the Purchasing Division staff immediately upon bid opening. The Purchasing Division will consider any file that cannot be immediately accessed and viewed at the time of the bid opening (such as, encrypted files, password protected files, or incompatible files) to be blank or incomplete as context requires, and are therefore unacceptable. A vendor will not be permitted to unencrypt files, remove password protections, or resubmit documents after bid opening to make a file viewable if those documents are required with the bid. A Vendor may be required to provide document passwords or remove access restrictions to allow the Purchasing Division to print or electronically save documents provided that those documents are viewable by the Purchasing Division prior to obtaining the password or removing the access restriction.
- 19. NON-RESPONSIBLE: The Purchasing Division Director reserves the right to reject the bid of any vendor as Non-Responsible in accordance with W. Va. Code of State Rules § 148-1-5.3, when the Director determines that the vendor submitting the bid does not have the capability to fully perform, or lacks the integrity and reliability to assure good-faith performance."
- 20. ACCEPTANCE/REJECTION: The State may accept or reject any bid in whole, or in part in accordance with W. Va. Code of State Rules § 148-1-4.5. and § 148-1-6.4.b."
- 21. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of West Virginia Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act West Virginia Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHER WISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Purchasing Division constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Purchasing Division will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by West Virginia Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

- 22. INTERESTED PARTY DISCLOSURE: West Virginia Code § 6D-1-2 requires that the vendor submit to the Purchasing Division a disclosure of interested parties to the contract for all contracts with an actual or estimated value of at least \$1 Million. That disclosure must occur on the form prescribed and approved by the WV Ethics Commission prior to contract award. A copy of that form is included with this solicitation or can be obtained from the WV Ethics Commission. This requirement does not apply to publicly traded companies listed on a national or international stock exchange. A more detailed definition of interested parties can be obtained from the form referenced above.
- 23. WITH THE BID REQUIREMENTS: In instances where these specifications require documentation or other information with the bid, and a vendor fails to provide it with the bid, the Director of the Purchasing Division reserves the right to request those items after bid opening and prior to contract award pursuant to the authority to waive minor irregularities in bids or specifications under W. Va. CSR § 148-1-4.6. This authority does not apply to instances where state law mandates receipt with the bid.

GENERAL TERMS AND CONDITIONS:

- 1. CONTRACTUAL AGREEMENT: Issuance of a Award Document signed by the Purchasing Division Director, or his designee, and approved as to form by the Attorney General's office constitutes acceptance of this Contract made by and between the State of West Virginia and the Vendor. Vendor's signature on its bid signifies Vendor's agreement to be bound by and accept the terms and conditions contained in this Contract.
- 2. DEFINITIONS: As used in this Solicitation/Contract, the following terms shall have the meanings attributed to them below. Additional definitions may be found in the specifications included with this Solicitation/Contract.
- 2.1. "Agency" or "Agencies" means the agency, board, commission, or other entity of the State of West Virginia that is identified on the first page of the Solicitation or any other public entity seeking to procure goods or services under this Contract.
- 2.2. "Bid" or "Proposal" means the vendors submitted response to this solicitation.
- 2.3. "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the goods or services requested in the Solicitation.
- 2.4. "Director" means the Director of the West Virginia Department of Administration, Purchasing Division.
- 2.5. "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
- 2.6. "Award Document" means the document signed by the Agency and the Purchasing Division, and approved as to form by the Attorney General, that identifies the Vendor as the contract holder.
- 2.7. "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.
- 2.8. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc. as context requires.
- 2.9. "Vendor" or "Vendors" means any entity submitting a bid in response to the Solicitation, the entity that has been selected as the lowest responsible bidder, or the entity that has been awarded the Contract as context requires.

determined in accordance with the category that has been identified as applicable to this Contract below:
✓ Term Contract
Initial Contract Term: Initial Contract Term: This Contract becomes effective on award and extends for a period of
Renewal Term: This Contract may be renewed upon the mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any request for renewal should be delivered to the Agency and then submitted to the Purchasing Division thirty (30) days prior to the expiration date of the initial contract term or appropriate renewal term. A Contract renewal shall be in accordance with the terms and conditions of the original contract. Unless otherwise specified below, renewal of this Contract is limited to
Alternate Renewal Term — This contract may be renewed for
Delivery Order Limitations: In the event that this contract permits delivery orders, a delivery order may only be issued during the time this Contract is in effect. Any delivery order issued within one year of the expiration of this Contract shall be effective for one year from the date the delivery order is issued. No delivery order may be extended beyond one year after this Contract has expired.
Fixed Period Contract: This Contract becomes effective upon Vendor's receipt of the notice to proceed and must be completed withindays.
Fixed Period Contract with Renewals: This Contract becomes effective upon Vendor's receipt of the notice to proceed and part of the Contract more fully described in the attached specifications must be completed within
One Time Purchase: The term of this Contract shall run from the issuance of the Award Document until all of the goods contracted for have been delivered, but in no event will this Contract extend for more than one fiscal year.
Other: See attached.

Revised 08/15/2019

4. NOTICE TO PROCEED: Vendor shall begin performance of this Contract immediately upon receiving notice to proceed unless otherwise instructed by the Agency. Unless otherwise specified, the fully executed Award Document will be considered notice to proceed.
5. QUANTITIES: The quantities required under this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below.
Open End Contract: Quantities listed in this Solicitation are approximations only, based on estimates supplied by the Agency. It is understood and agreed that the Contract shall cover the quantities actually ordered for delivery during the term of the Contract, whether more or less than the quantities shown.
Service: The scope of the service to be provided will be more clearly defined in the specifications included herewith.
Combined Service and Goods: The scope of the service and deliverable goods to be provided will be more clearly defined in the specifications included herewith.
One Time Purchase: This Contract is for the purchase of a set quantity of goods that are identified in the specifications included herewith. Once those items have been delivered, no additional goods may be procured under this Contract without an appropriate change order approved by the Vendor, Agency, Purchasing Division, and Attorney General's office.
6. EMERGENCY PURCHASES: The Purchasing Division Director may authorize the Agency to purchase goods or services in the open market that Vendor would otherwise provide under this Contract if those goods or services are for immediate or expedited delivery in an emergency. Emergencies shall include, but are not limited to, delays in transportation or an unanticipated increase in the volume of work. An emergency purchase in the open market, approved by the Purchasing Division Director, shall not constitute of breach of this Contract and shall not entitle the Vendor to any form of compensation or damages. This provision does not excuse the State from fulfilling its obligations under a One Time Purchase contract.
7. REQUIRED DOCUMENTS: All of the items checked below must be provided to the Purchasing Division by the Vendor as specified below.
BID BOND (Construction Only): Pursuant to the requirements contained in W. Va. Code § 5-22-1(c), All Vendors submitting a bid on a construction project shall furnish a valid bid bond in the amount of five percent (5%) of the total amount of the bid protecting the State of West Virginia. The bid bond must be submitted with the bid.
PERFORMANCE BOND: The apparent successful Vendor shall provide a performance bond in the amount of 100% of the contract. The performance bond must be received by the Purchasing Division prior to Contract award.

☐ LABOR/MATERIAL PAYMENT BOND: The apparent successful Vendor shall provide a labor/material payment bond in the amount of 100% of the Contract value. The labor/material payment bond must be delivered to the Purchasing Division prior to Contract award.
In lieu of the Bid Bond, Performance Bond, and Labor/Material Payment Bond, the Vendor may provide certified checks, cashier's checks, or irrevocable letters of credit. Any certified check, cashier's check, or irrevocable letter of credit provided in lieu of a bond must be of the same amount and delivered on the same schedule as the bond it replaces. A letter of credit submitted in lieu of a performance and labor/material payment bond will only be allowed for projects under \$100,000. Personal or business checks are not acceptable. Notwithstanding the foregoing, West Virginia Code § 5-22-1 (d) mandates that a vendor provide a performance and labor/material payment bond for construction projects. Accordingly, substitutions for the performance and labor/material payment bonds for construction projects is not permitted.
MAINTENANCE BOND: The apparent successful Vendor shall provide a two (2) year maintenance bond covering the roofing system. The maintenance bond must be issued and delivered to the Purchasing Division prior to Contract award.
LICENSE(S) / CERTIFICATIONS / PERMITS: In addition to anything required under the Section of the General Terms and Conditions entitled Licensing, the apparent successful Vendor shall furnish proof of the following licenses, certifications, and/or permits prior to Contract award, in a form acceptable to the Purchasing Division.
The apparent successful Vendor shall also furnish proof of any additional licenses or certifications contained in the specifications prior to Contract award regardless of whether or not that requirement is listed above.

8. INSURANCE: The apparent successful Vendor shall furnish proof of the insurance identified by a checkmark below and must include the State as an additional insured on each policy prior to Contract award. The insurance coverages identified below must be maintained throughout the life of this contract. Thirty (30) days prior to the expiration of the insurance policies, Vendor shall provide the Agency with proof that the insurance mandated herein has been continued. Vendor must also provide Agency with immediate notice of any changes in its insurance policies, including but not limited to, policy cancelation, policy reduction, or change in insurers. The apparent successful Vendor shall also furnish proof of any additional insurance requirements contained in the specifications prior to Contract award regardless of whether or not that insurance requirement is listed in this section.

Vendor must maintain: Commercial General Liability Insurance in at least an amount of: \$1,000,000-See Below per occurrence. Automobile Liability Insurance in at least an amount of: ______ per occurrence. Professional/Malpractice/Errors and Omission Insurance in at least an amount of: per occurrence. Notwithstanding the forgoing, Vendor's are not required to list the State as an additional insured for this type of policy. Commercial Crime and Third Party Fidelity Insurance in an amount of: per occurrence. Cyber Liability Insurance in an amount of: _______ per occurrence. Builders Risk Insurance in an amount equal to 100% of the amount of the Contract. Pollution Insurance in an amount of: ______ per occurrence. Aircraft Liability in an amount of: ______ per occurrence. ***STATE OF WV MUST BE LISTED AS ADDITIONAL INSURED ON **INSURANCE CERTIFICATE** ***CERTIFICATE HOLDER SHOULD READ AS FOLLOWS: STATE OF W 1900 KANAWHA BLVD E, BLDG 5, CHARLESTON, WV 25305 П

Notwithstanding anything contained in this section to the contrary, the Director of the Purchasing Division reserves the right to waive the requirement that the State be named as an additional insured on one or more of the Vendor's insurance policies if the Director finds that doing so is in the State's best interest.

9. WORKERS' COMPENSATION INSURANCE: The apparent successful Vendor shall comply with laws relating to workers compensation, shall maintain workers' compensation insurance when required, and shall furnish proof of workers' compensation insurance upon request.

10. [Reserved]

not limit the State or Age	AGES: This clause shall in no way be considered exclusive and acy's right to pursue any other available remedy. Vendor shall pay amount specified below or as described in the specifications:	shal y
-	for	
Liquidated Dam	ges Contained in the Specifications	

- 12. ACCEPTANCE: Vendor's signature on its bid, or on the certification and signature page, constitutes an offer to the State that cannot be unilaterally withdrawn, signifies that the product or service proposed by vendor meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise indicated, and signifies acceptance of the terms and conditions contained in the Solicitation unless otherwise indicated.
- 13. PRICING: The pricing set forth herein is firm for the life of the Contract, unless specified elsewhere within this Solicitation/Contract by the State. A Vendor's inclusion of price adjustment provisions in its bid, without an express authorization from the State in the Solicitation to do so, may result in bid disqualification. Notwithstanding the foregoing, Vendor must extend any publicly advertised sale price to the State and invoice at the lower of the contract price or the publicly advertised sale price.
- 14. PAYMENT IN ARREARS: Payment in advance is prohibited under this Contract. Payment may only be made after the delivery and acceptance of goods or services. The Vendor shall submit invoices, in arrears.
- 15. PAYMENT METHODS: Vendor must accept payment by electronic funds transfer and P-Card. (The State of West Virginia's Purchasing Card program, administered under contract by a banking institution, processes payment for goods and services through state designated credit cards.)

- 16. TAXES: The Vendor shall pay any applicable sales, use, personal property or any other taxes arising out of this Contract and the transactions contemplated thereby. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 17. ADDITIONAL FEES: Vendor is not permitted to charge additional fees or assess additional charges that were not either expressly provided for in the solicitation published by the State of West Virginia or included in the unit price or lump sum bid amount that Vendor is required by the solicitation to provide. Including such fees or charges as notes to the solicitation may result in rejection of vendor's bid. Requesting such fees or charges be paid after the contract has been awarded may result in cancellation of the contract.
- 18. FUNDING: This Contract shall continue for the term stated herein, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise made available, this Contract becomes void and of no effect beginning on July 1 of the fiscal year for which funding has not been appropriated or otherwise made available.
- 19. CANCELLATION: The Purchasing Division Director reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Purchasing Division Director may also cancel any purchase or Contract upon 30 days written notice to the Vendor in accordance with West Virginia Code of State Rules § 148-1-5.2.b.
- 20. TIME: Time is of the essence with regard to all matters of time and performance in this Contract.
- 21. APPLICABLE LAW: This Contract is governed by and interpreted under West Virginia law without giving effect to its choice of law principles. Any information provided in specification manuals, or any other source, verbal or written, which contradicts or violates the West Virginia Constitution, West Virginia Code or West Virginia Code of State Rules is void and of no effect.
- 22. COMPLIANCE WITH LAWS: Vendor shall comply with all applicable federal, state, and local laws, regulations and ordinances. By submitting a bid, Vendor acknowledges that it has reviewed, understands, and will comply with all applicable laws, regulations, and ordinances.
 - SUBCONTRACTOR COMPLIANCE: Vendor shall notify all subcontractors providing commodities or services related to this Contract that as subcontractors, they too are required to comply with all applicable laws, regulations, and ordinances. Notification under this provision must occur prior to the performance of any work under the contract by the subcontractor.
- 23. ARBITRATION: Any references made to arbitration contained in this Contract, Vendor's bid, or in any American Institute of Architects documents pertaining to this Contract are hereby deleted, void, and of no effect.

- 24. MODIFICATIONS: This writing is the parties' final expression of intent. Notwithstanding anything contained in this Contract to the contrary no modification of this Contract shall be binding without mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any change to existing contracts that adds work or changes contract cost, and were not included in the original contract, must be approved by the Purchasing Division and the Attorney General's Office (as to form) prior to the implementation of the change or commencement of work affected by the change.
- 25. WAIVER: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.
- 26. SUBSEQUENT FORMS: The terms and conditions contained in this Contract shall supersede any and all subsequent terms and conditions which may appear on any form documents submitted by Vendor to the Agency or Purchasing Division such as price lists, order forms, invoices, sales agreements, or maintenance agreements, and includes internet websites or other electronic documents. Acceptance or use of Vendor's forms does not constitute acceptance of the terms and conditions contained thereon.
- 27. ASSIGNMENT: Neither this Contract nor any monies due, or to become due hereunder, may be assigned by the Vendor without the express written consent of the Agency, the Purchasing Division, the Attorney General's office (as to form only), and any other government agency or office that may be required to approve such assignments.
- 28. WARRANTY: The Vendor expressly warrants that the goods and/or services covered by this Contract will: (a) conform to the specifications, drawings, samples, or other description furnished or specified by the Agency; (b) be merchantable and fit for the purpose intended; and (c) be free from defect in material and workmanship.
- 29. STATE EMPLOYEES: State employees are not permitted to utilize this Contract for personal use and the Vendor is prohibited from permitting or facilitating the same.
- 30. PRIVACY, SECURITY, AND CONFIDENTIALITY: The Vendor agrees that it will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the Agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the Agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/default.html.

31. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of West Virginia Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act West Virginia Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Purchasing Division constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Purchasing Division will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by West Virginia Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

32. LICENSING: In accordance with West Virginia Code of State Rules § 148-1-6.1.e, Vendor must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agency or political subdivision. Obligations related to political subdivisions may include, but are not limited to, business licensing, business and occupation taxes, inspection compliance, permitting, etc. Upon request, the Vendor must provide all necessary releases to obtain information to enable the Purchasing Division Director or the Agency to verify that the Vendor is licensed and in good standing with the above entities.

SUBCONTRACTOR COMPLIANCE: Vendor shall notify all subcontractors providing commodities or services related to this Contract that as subcontractors, they too are required to be licensed, in good standing, and up-to-date on all state and local obligations as described in this section. Obligations related to political subdivisions may include, but are not limited to, business licensing, business and occupation taxes, inspection compliance, permitting, etc. Notification under this provision must occur prior to the performance of any work under the contract by the subcontractor.

33. ANTITRUST: In submitting a bid to, signing a contract with, or accepting a Award Document from any agency of the State of West Virginia, the Vendor agrees to convey, sell, assign, or transfer to the State of West Virginia all rights, title, and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to Vendor.

34. VENDOR CERTIFICATIONS: By signing its bid or entering into this Contract, Vendor certifies (1) that its bid or offer was made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, person or entity submitting a bid or offer for the same material, supplies, equipment or services; (2) that its bid or offer is in all respects fair and without collusion or fraud; (3) that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; and (4) that it has reviewed this Solicitation in its entirety; understands the requirements, terms and conditions, and other information contained herein.

Vendor's signature on its bid or offer also affirms that neither it nor its representatives have any interest, nor shall acquire any interest, direct or indirect, which would compromise the performance of its services hereunder. Any such interests shall be promptly presented in detail to the Agency. The individual signing this bid or offer on behalf of Vendor certifies that he or she is authorized by the Vendor to execute this bid or offer or any documents related thereto on Vendor's behalf; that he or she is authorized to bind the Vendor in a contractual relationship; and that, to the best of his or her knowledge, the Vendor has properly registered with any State agency that may require registration.

35. VENDOR RELATIONSHIP: The relationship of the Vendor to the State shall be that of an independent contractor and no principal-agent relationship or employer-employee relationship is contemplated or created by this Contract. The Vendor as an independent contractor is solely liable for the acts and omissions of its employees and agents. Vendor shall be responsible for selecting, supervising, and compensating any and all individuals employed pursuant to the terms of this Solicitation and resulting contract. Neither the Vendor, nor any employees or subcontractors of the Vendor, shall be deemed to be employees of the State for any purpose whatsoever. Vendor shall be exclusively responsible for payment of employees and contractors for all wages and salaries, taxes, withholding payments, penalties, fees, fringe benefits, professional liability insurance premiums, contributions to insurance and pension, or other deferred compensation plans, including but not limited to, Workers' Compensation and Social Security obligations, licensing fees, etc. and the filing of all necessary documents, forms, and returns pertinent to all of the foregoing.

Vendor shall hold harmless the State, and shall provide the State and Agency with a defense against any and all claims including, but not limited to, the foregoing payments, withholdings, contributions, taxes, Social Security taxes, and employer income tax returns.

36. INDEMNIFICATION: The Vendor agrees to indemnify, defend, and hold harmless the State and the Agency, their officers, and employees from and against: (1) Any claims or losses for services rendered by any subcontractor, person, or firm performing or supplying services, materials, or supplies in connection with the performance of the Contract; (2) Any claims or losses resulting to any person or entity injured or damaged by the Vendor, its officers, employees, or subcontractors by the publication, translation, reproduction, delivery, performance, use, or disposition of any data used under the Contract in a manner not authorized by the Contract, or by Federal or State statutes or regulations; and (3) Any failure of the Vendor, its officers, employees, or subcontractors to observe State and Federal laws including, but not limited to, labor and wage and hour laws.

- 37. PURCHASING AFFIDAVIT: In accordance with West Virginia Code §§ 5A-3-10a and 5-22-1(i), the State is prohibited from awarding a contract to any bidder that owes a debt to the State or a political subdivision of the State, Vendors are required to sign, notarize, and submit the Purchasing Affidavit to the Purchasing Division affirming under oath that it is not in default on any monetary obligation owed to the state or a political subdivision of the state.
- 38. ADDITIONAL AGENCY AND LOCAL GOVERNMENT USE: This Contract may be utilized by other agencies, spending units, and political subdivisions of the State of West Virginia; county, municipal, and other local government bodies; and school districts ("Other Government Entities"), provided that both the Other Government Entity and the Vendor agree. Any extension of this Contract to the aforementioned Other Government Entities must be on the same prices, terms, and conditions as those offered and agreed to in this Contract, provided that such extension is in compliance with the applicable laws, rules, and ordinances of the Other Government Entity. A refusal to extend this Contract to the Other Government Entities shall not impact or influence the award of this Contract in any manner.
- 39. CONFLICT OF INTEREST: Vendor, its officers or members or employees, shall not presently have or acquire an interest, direct or indirect, which would conflict with or compromise the performance of its obligations hereunder. Vendor shall periodically inquire of its officers, members and employees to ensure that a conflict of interest does not arise. Any conflict of interest discovered shall be promptly presented in detail to the Agency.
- **40. REPORTS:** Vendor shall provide the Agency and/or the Purchasing Division with the following reports identified by a checked box below:
- Such reports as the Agency and/or the Purchasing Division may request. Requested reports may include, but are not limited to, quantities purchased, agencies utilizing the contract, total contract expenditures by agency, etc.
- Quarterly reports detailing the total quantity of purchases in units and dollars, along with a listing of purchases by agency. Quarterly reports should be delivered to the Purchasing Division via email at <u>purchasing.requisitions@wv.gov</u>.
- 41. BACKGROUND CHECK: In accordance with W. Va. Code § 15-2D-3, the Director of the Division of Protective Services shall require any service provider whose employees are regularly employed on the grounds or in the buildings of the Capitol complex or who have access to sensitive or critical information to submit to a fingerprint-based state and federal background inquiry through the state repository. The service provider is responsible for any costs associated with the fingerprint-based state and federal background inquiry.

After the contract for such services has been approved, but before any such employees are permitted to be on the grounds or in the buildings of the Capitol complex or have access to sensitive or critical information, the service provider shall submit a list of all persons who will be physically present and working at the Capitol complex to the Director of the Division of Protective Services for purposes of verifying compliance with this provision. The State reserves the right to prohibit a service provider's employees from accessing sensitive or critical information or to be present at the Capitol complex based upon results addressed from a criminal background check.

Revised 08/15/2019

Service providers should contact the West Virginia Division of Protective Services by phone at (304) 558-9911 for more information.

- 42. PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS: Except when authorized by the Director of the Purchasing Division pursuant to W. Va. Code § 5A-3-56, no contractor may use or supply steel products for a State Contract Project other than those steel products made in the United States. A contractor who uses steel products in violation of this section may be subject to civil penalties pursuant to W. Va. Code § 5A-3-56. As used in this section:
 - a. "State Contract Project" means any erection or construction of, or any addition to, alteration of or other improvement to any building or structure, including, but not limited to, roads or highways, or the installation of any heating or cooling or ventilating plants or other equipment, or the supply of and materials for such projects, pursuant to a contract with the State of West Virginia for which bids were solicited on or after June 6, 2001.
 - b. "Steel Products" means products rolled, formed, shaped, drawn, extruded, forged, cast, fabricated or otherwise similarly processed, or processed by a combination of two or more or such operations, from steel made by the open heath, basic oxygen, electric furnace, Bessemer or other steel making process. The Purchasing Division Director may, in writing, authorize the use of foreign steel products if:
 - c. The cost for each contract item used does not exceed one tenth of one percent (.1%) of the total contract cost or two thousand five hundred dollars (\$2,500.00), whichever is greater. For the purposes of this section, the cost is the value of the steel product as delivered to the project; or
 - d. The Director of the Purchasing Division determines that specified steel materials are not produced in the United States in sufficient quantity or otherwise are not reasonably available to meet contract requirements.
- 43. PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: In Accordance with W. Va. Code § 5-19-1 et seq., and W. Va. CSR § 148-10-1 et seq., for every contract or subcontract, subject to the limitations contained herein, for the construction, reconstruction, alteration, repair, improvement or maintenance of public works or for the purchase of any item of machinery or equipment to be used at sites of public works, only domestic aluminum, glass or steel products shall be supplied unless the spending officer determines, in writing, after the receipt of offers or bids, (1) that the cost of domestic aluminum, glass or steel products is unreasonable or inconsistent with the public interest of the State of West Virginia, (2) that domestic aluminum, glass or steel products are not produced in sufficient quantities to meet the contract requirements, or (3) the available domestic aluminum, glass, or steel do not meet the contract specifications. This provision only applies to public works contracts awarded in an amount more than fifty thousand dollars (\$50,000) or public works contracts that require more than ten thousand pounds of steel products.

The cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than twenty percent (20%) of the bid or offered price for foreign made aluminum, glass, or steel products. If the domestic aluminum, glass or steel products to be supplied or produced in a

"substantial labor surplus area", as defined by the United States Department of Labor, the cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than thirty percent (30%) of the bid or offered price for foreign made aluminum, glass, or steel products. This preference shall be applied to an item of machinery or equipment, as indicated above, when the item is a single unit of equipment or machinery manufactured primarily of aluminum, glass or steel, is part of a public works contract and has the sole purpose or of being a permanent part of a single public works project. This provision does not apply to equipment or machinery purchased by a spending unit for use by that spending unit and not as part of a single public works project.

All bids and offers including domestic aluminum, glass or steel products that exceed bid or offer prices including foreign aluminum, glass or steel products after application of the preferences provided in this provision may be reduced to a price equal to or lower than the lowest bid or offer price for foreign aluminum, glass or steel products plus the applicable preference. If the reduced bid or offer prices are made in writing and supersede the prior bid or offer prices, all bids or offers, including the reduced bid or offer prices, will be reevaluated in accordance with this rule.

44. INTERESTED PARTY SUPPLEMENTAL DISCLOSURE: W. Va. Code § 6D-1-2 requires that for contracts with an actual or estimated value of at least \$1 million, the vendor must submit to the Agency a supplemental disclosure of interested parties reflecting any new or differing interested parties to the contract, which were not included in the original preaward interested party disclosure, within 30 days following the completion or termination of the contract. A copy of that form is included with this solicitation or can be obtained from the WV Ethics Commission. This requirement does not apply to publicly traded companies listed on a national or international stock exchange. A more detailed definition of interested parties can be obtained from the form referenced above.

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

Todd Welman Sales Representative
(Name, Title)
Todd Wellman Sales Representative
(Printed Name and Title)
P.O. Box 854 Barboursville WV 25504
(Address)
(Address) 364-416-1806 540-674-0815
(Phone Number) / (Fax Number)
twellman @ lane-enterprises. com
(email address)

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Lane Enterprises, Inc.	
(Company)	
Tell Will Todd Wellman	Sales Rep
(Authorized Signature) (Representative Name, Title)	
Todd Wellman Sales Rep (Printed Name and Title of Authorized Representative)	
10-11-19 (Date)	
304-416-1806 540-674-0815	
(Phone Number) (Fax Number)	

ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ DOT2000000033

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:	
(Check the box next to each addendum recei	ved)
☐ Addendum No. 1 ☐ Addendum No. 2 ☐ Addendum No. 3 ☐ Addendum No. 4 ☐ Addendum No. 5	Addendum No. 6 Addendum No. 7 Addendum No. 8 Addendum No. 9 Addendum No. 10
I further understand that any verbal representation discussion held between Vendor's representation.	t of addenda may be cause for rejection of this bid ation made or assumed to be made during any oral tives and any state personnel is not binding. Only the specifications by an official addendum is
Lane Enterprises, Inc.	
Trest WM	
Authorized Signature	
10-11-19 Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

SPECIFICATIONS

- 1. PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids on behalf of the West Virginia Division of Highways to establish an open-end contract to provide various types and sizes of Corrugated Metal Culvert Pipe for use at locations throughout the state of West Virginia by West Virginia Division of Highways forces
- 2. DEFINITIONS: The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions.
 - 2.1 "Contract Item" or "Contract Items" means the list of items identified in Section 3.3.
 - 2.2 "Pricing Pages" means the schedule of prices attached hereto as Attachment A and used to evaluate the Solicitation responses.
 - 2.3 "Solicitation" means the official notice of an opportunity to supply the State with goods or services.
 - 2.4 "WVDOH" used throughout this Solicitation means the West Virginia Division of Highways.
 - 2.5 "MP" and/or "MCS&T" used throughout this Solicitation means the Materials Procedures as administered by the WVDOH Materials Control, Soil and Testing Division who perform all procedures necessary with sampling, testing, reporting and inspection of products and materials to maintain a reliable quality assurance system. Reference: http://www.transportation.wv.gov/highways/mcst/Pages/MaterialProcedures.aspx#anchor700
- 2.6 "AASHTO" used throughout this Solicitation means American Association of State Highway and Transportation Officials. Reference: www.transportation.org.
- 2.7 "ASTM" used throughout this Solicitation means American Society for Testing and Materials. Reference: www.astm.org.
- "Contractor" or "Vendor" used throughout this Solicitation and in any cited sections of the West Virginia Department of Transportation, Division of Highways Standard Specifications, Roads and Bridges, adopted latest edition, as modified by all subsequent annual Supplemental Specifications are interchangeable.

Corrugated Metal Culvert Pipe - Supplemental (6629C011)

2.9 "Standard Specs" used throughout this Solicitation means the West Virginia Department of Transportation, Division of Highways Standard Specifications, Roads and Bridges, adopted latest edition, including all Supplementals.

3. GENERAL REQUIREMENTS:

3.1 A hard copy of the current Standard Specs may be purchased at a cost of \$20.00 (\$15.00 for the 2017 book plus \$5.00 for the Supplemental Latest Edition) using the Attachment, A Standard Specifications Order Form and sent to:

West Virginia Division of Highways Contract Administration Building 5, Room 840 1900 Kanawha Boulevard, East Charleston, West Virginia 25305

A free electronic copy of the Standard Specs may be obtained by sourcing: http://www.transportation.wv.gov/highways/contractadmin/specifications/2017StandSpec/Pages/default.aspx

- 3.2 Approved Fabricators/Producers: Vendors bidding must source approved suppliers/fabricators from MCS&T, MP 713.01.50. The approved fabricators/producers list herein establishes a list or products that meet the acceptable level of quality and is not intended to reflect a preference or favor any brand or vendor. Any fabricator meeting the established level of quality may become an approved fabricator and be added to the approved fabricator's list in accordance with the approval procedures found in MP 700.00.55.
- 3.3 Contract Items and Mandatory Requirements: Vendor shall provide Agency with the Contract Items listed below on an open-end and continuing basis.

 Contract Items must meet or exceed the mandatory requirements as shown below.

3.3.1 Item 1:

Part 1p: Zinc coated (galvanized) corrugated steel culvert pipe (type I), reference section 713.2 of the Standard Specs. Pipe shall be in 20-foot sections. Part 1b: Bands for Part 1p.

NOTE: Bands may or may not be purchased when Part 1p is purchased. Part 1t: Total cost for Part "p" and Part "b".

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

3.3.2 Item 2:

Part 2p: Zinc coated (galvanized) corrugated steel culvert arch pipe (type II), reference section 713.2 of the Standard Specs. Pipe shall be in 20-foot sections. Part 2b: Bands for Part 2p. NOTE: Bands may or may not be purchased when Part 2p is purchased.

Part 2t: Total cost for Part "p" and Part "b".

3.3.3 Item 3;

Part 3p: Zinc coated (galvanized) corrugated steel under-drainpipe (type III), perforated and non-perforated, reference section 713.11 of the Standard Specs. Pipe shall be in 20-foot sections.

Part 3b: Bands for Part 3p. NOTE: Bands may or may not be purchased when Part 3p is purchased.

Part 3t: Total cost for Part "p" and Part "b".

3.3.4 Item 4:

Part 4p: Zinc coated (galvanized) corrugated steel culvert pipe (type I), reference section 713.2 of the Standard Specs, with grated assemblies made of structural steel, suitable welded, to form the open slot and hot dip galvanized to meet provisions of ASTM A123. Pipe shall be in 20-foot sections.

Part 4b: Bands for Part 4p. NOTE: Bands may or may not be purchased when Part 4p is purchased.

Part 4t: Total cost for Part "p" and Part "b".

3.3.5 Item 5:

Part 5p: Aluminized Steel, Type II Corrugated Metal Pipe shall conform to the requirements of Standard Specs 2019 Supplemental, Section 713.24 and AASHTO M 36. Pipe shall be in 20-foot sections.

Part 5b: Bands for Part 5p. NOTE: Bands may or may not be purchased when Part 5p is purchased.

Part 5t: Total cost for Part "p" and Part "b".

3.3.6 Item 6:

Part 6p: Corrugated aluminum alloy under-drainpipe (type III), perforated, reference section 713.16 of the Standard Specs. Pipe shall be in 20-foot sections.

Corrugated Metal Culvert Pipe – Supplemental (6620C011)

Part 6b: Bands for Part 6p. NOTE: Bands may or may not be purchased when Part 6p is purchased.

Part 7t: Total cost for Part "p" and Part "b".

3.3.7 Item 7:

Part 7a: Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of the Standard Specs.

NOTE: Most structures with full aluminum inverts are limited to a maximum of four feet of cover. Most three-sided (bottomless) structures on concrete footings can handle up to five feet of cover. Consult the manufacturer for the specifics on each size.

Part 7b: Aluminum Accessories for Part 7a.

Part 7t: Total cost for Part "a" and Part "b".

3.3.8 Sizes, Shapes, Corrugations, Metal Thicknesses: This Section is referenced on the Pricing Page for the Pipe-Arch bid sizes.

Pipe shall be per the following table unless otherwise noted on the Pricing Page:

Corrugations	Round	Pipe-Arch (Span x Rise)
1 1/2" x 1/4"	6" to 10"	
2 2/3" x 1/2"	12" to 72"	14" x 9" to 83" x 57"
3" x 1"	48" to 102"	53" x 41" to 117" x 79"
5" x 1"	48" to 144"	53" x 41" to 142" x 91"
(SRP) 3/4" x 3/4" x 7 1/2"	15" to 102"	20" x 16" to 103" x 71"

4. CONTRACT AWARD:

4.1 Contract Award: The Contract is intended to provide Agencies with a purchase price on all Contract Items/Sizes. A Contract shall be awarded to the Vendor that provides the Contract Items/Sizes meeting the required specifications for the lowest cost per item/per size as shown on the Pricing Pages. Each item is identified with two Parts: Part "p" for the pipe and Part "b" for the band. For evaluation purposes only, the bid price for both parts of each item/size shall be added together to arrive at a total "t" unit cost price and awarded to the lowest total bid. When DOH issues

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

- a Delivery Order, both parts of an item may not necessarily be purchased and shall be billed and paid as separate items accordingly.
- 4.2 Pricing Pages: Vendor should complete the Pricing Pages by providing their bid price as described in Section 4.1 of the contract specifications. Vendor may bid any or all Contract Items/Sizes; however, the Vendor must bid both parts of a Contract Item/Size to be evaluated. The Vendor shall bid both Part "p" for the pipe and Part "b" for the band.
- 4.3 Pricing: shall be statewide and shall include delivery F.O.B. to the WVDOH location site as indicated on the Delivery Order.

 The Pricing Pages contain a list of the Contract Items with no guarantee that any Contract Item will be purchased throughout the life of this contract. Estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor should type or electronically enter the information into the Pricing Pages to prevent errors in the evaluation. In most cases, the Vendor can request an electronic copy of the Pricing Pages for bid purposes by sending an email request to the following address: Crystal.G.Hustead@wv.gov.

5. ORDERING AND PAYMENT:

- 5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile, e-mail, or any other written forms of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor can accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- 5.2 Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia. The State of West Virginia currently utilizes a Purchasing Card program, administered under contract by a banking institution, to process payment for goods and services. The Vendor must accept the State of West Virginia's Purchasing Card for payment of all orders under this Contract.

6. DELIVERY AND RETURN:

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

a Delivery Order, both parts of an item may not necessarily be purchased and shall be billed and paid as separate items accordingly.

- 4.2 Pricing Pages: Vendor should complete the Pricing Pages by providing their bid price as described in Section 4.1 of the contract specifications. Vendor may bid any or all Contract Items/Sizes; however, the Vendor must bid both parts of a Contract Item/Size to be evaluated. The Vendor shall bid both Part "p" for the pipe and Part "b" for the band.
- 4.3 Pricing: shall be statewide and shall include delivery F.O.B. to the WVDOH location site as indicated on the Delivery Order.

 The Pricing Pages contain a list of the Contract Items with no guarantee that any Contract Item will be purchased throughout the life of this contract. Estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor should type or electronically enter the information into the Pricing Pages to prevent errors in the evaluation. In most cases, the Vendor can request an electronic copy of the Pricing Pages for bid purposes by sending an email request to the following address: Crystal.G.Rink@wv.gov.

5. ORDERING AND PAYMENT:

- 5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile, e-mail, or any other written forms of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor can accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- 5.2 Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia. The State of West Virginia currently utilizes a Purchasing Card program, administered under contract by a banking institution, to process payment for goods and services. The Vendor must accept the State of West Virginia's Purchasing Card for payment of all orders under this Contract.

6. DELIVERY AND RETURN:

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

- 6.1 Delivery Time: Vendor shall deliver standard orders within ten (10) working days after orders are received. Vendor shall have emergency orders within an agreed upon acceptable timeframe after orders are received. Vendor shall ship all orders in accordance with the above schedule and shall not hold orders until a minimum quantity is met.
- 6.2 Late Delivery: The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay that could cause harm to an Agency will be grounds for cancellation of the delayed order, and/or obtaining the items ordered from a third party.
- 6.3 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.
- 6.4 Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

7. VENDOR DEFAULT:

- 7.1 The following shall be considered a vendor default under this Contract.
 - 7.1.2 Failure to provide Contract Items in accordance with the requirements contained herein.
 - 7.2.3 Failure to comply with other specifications and requirements contained herein.

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

- 7.3.4 Failure to comply with any laws, rules and ordinances applicable to the Contract Services provided under this Contract.
- 7.4.5 Failure to remedy deficient performance upon request.
- 7.2 The following remedies shall be available to Agency upon default.
 - 7.2.1 Immediate cancellation of the Contract.
 - 7.2.2 Immediate cancellation of one or more Delivery Orders issued under this Contract.
 - 7.2.3 Any other remedies available in law or equity.

8. MISCELLENOUS:

- 8.1 No Substitutions: The Vendor shall supply only Contract Items submitted in response to this Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract.
- **8.2** Vendor Supply: The Vendor must carry enough inventory of the Contract Items being offered to fulfill its obligations under this Contract. By signing its bid, the Vendor certifies that it can supply the Contract Items contained in its bid response.
- 8.3 Reports: The Vendor shall provide quarterly reports and annual summaries to the Agency showing the Contract Items purchased, quantities of Contract Items purchased, and the total dollar value of the Contract Items purchased. The Vendor shall also provide reports, upon request, showing the Contract Items purchased during the term of this Contract, the quantity purchased for each of those Contract Items and the total value of purchases for each of those Contract Items. Failure to supply such reports may be grounds for cancellation of this Contract

Corrugated Metal Culvert Pipe - Supplemental (6620C011)

8.4 Contract Manager: During its performance of this Contract, the Vendor must designate and maintain a primary contract manager responsible for overseeing the Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. The Vendor should list its Contract manager and his or her contact information below.

# 1 TO 1 TO 1	
Contract Manager: Toda Welman	
Telephone Number: 304-416-1806	
Fax Number: 540 - 674 - 0815	
Email Address: twellman@lane-enterprises.com	`



West Virginia Department of Transportation Division of Highways

Standard Specifications Order Form

Ordering Instructions:

City, State, Zip Code:

Copies of the 2017 Standard Specifications Roads and Bridges and latest Supplemental Specifications may be purchased by completing this form, indicating the number of books desired, along with proper mailing and billing information.

Submit completed form by e-mail DOHSpecifications@wv.gov, or mail to:

Contract Administration Division 1900 Kanawha Boulevard East Building Five, Room 840 Charleston, WV 25305

Order Form	1:				
Delivery Me	thod (check one):	Pick-up □	Mail □ (S	&H fees apply – see b	elow)
Payment Me	thod (check one):	Invoice □	Check □	(payable to: WV Divis	sion of Highways)
Number of Copies		Title		Price Each	Total
	2017 Standard Spe	cifications Roads ar	ad Bridges	\$15.00	
	Supplemental Spec	ifications, Latest Ed	dition	\$5.00	
		SI	nipping and Har	ndling (S&H) *	
	* 1-9 Item	ns = \$5.00 10 + Items =	= \$10.00		
			Tota	al Amount Due	
	017 Standard Specifications fications Webpage.	Roads and Bridges and Su	pplemental Specifica	tions are available free	of charge on the
Customer In	formation:				
Company	Name:				
ATTENT	ION:				
Street Ad	dress:				

For Of	fice Use Only (Do	not write in	the space belo	w)
Order F	illed By:		Date:	
REC ORG	AUTH	ACT	OBJ	P/N
0064	COTH126	126	021	N

Telephone: _____ Fax: _____ e-mail: _____

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
1	1-12/16p	12" - 16 gage	160.93	2	321.86
	1-12/16b	Band	8.05	3	24.15
	1-12/16t	Total	168.98	XX	346.01
2	1-12/14p	12" - 14 gage	195.70	2	391.40
	1-12/14b	Band	9.79	3	29.37
	1-12/14t	Total	205.49	XX	420.77
3	1-15/16p	15" - 16 gage	199.69	2	399.38
	1-15/16b	Band	9.98	3	29.94
	1-15/16t	Total	209.67	XX	429.32
4	1-15/14p	15" - 14 gage	242.82	2	485.64
	1-15/14b	Band	12.14	3	36.42
	1-15/14t	Total	254.96	XX	522.06
5	1-18/16p	18" - 16 gage	237.69	2	475.38
	1-18/16b	Band	11.88	3	35.64
	1-18/16t	Total	249.57	XX	511.02
6	1-18/14p	18" - 14 gage	289.37	2	578.74
	1-18/14b	Band	14.47	3	43.41
	1-18/14t	Total	303.84	XX	622.15
7	1-18/12p	18" - 12 gage	397.29	2	794.58
	1-18/12b	Band	19.86	3	59.58
	1-18/12t	Total	417.15	XX *	854.16
8	1-24/16p	24" - 16 gage	314.64	2	629.28
	1-24/16b	Band	15.73	3	47.19
	1-24/16t	Total	330.37	XX	676.47
9	1-24/14p	24" - 14 gage	383.04	2	766.08
	1-24/14b	Band	19.15	3	57.45
	1-24/14t	Total	402.19	XX	823.53
10	1-24/12p	24" - 12 gage	525.92	2	1,051.84
	1-24/12b	Band	26.30	3	78.90
	1-24/12t	Total	552.22	XX	1,130.74
11	1-30/16p	30" - 16 gage	391.40	2	782.80

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
	1-30/16b	Band	19.57	3	58.71
	1-30/16t	Total	410.97	XX	841.51
12	1-30/14p	30" - 14 gage	476.71	2	953.42
	1-30/14b	Band	23.84	3	71.52
	1-30/14t	Total	500.55	XX	1,024.94
13	1-30/12p	30" - 12 gage	654.36	2	1,308.72
	1-30/12b	Band	32.72	3	98.16
	1-30/12t	Total	687.08	XX	1,406.88
14	1-30/10p	30" - 10 gage	817.95	2	1,635.90
	1-30/10b	Band	40.90	3	122.70
	1-30/10t	Total	858.85	XX	1,758.60
15	1-36/16p	36" - 16 gage	468.92	2	937.84
	1-36/16b	Band	23.45	3	70.35
	1-36/16t	Total	492.37	XX	1,008.19
16	1-36/14p	36" - 14 gage	570.38	2	1,140.76
	1-36/14b	Band	28.52	3	85.56
	1-36/14t	Total	598.90	XX	1,226.32
17	1-36/12p	36" - 12 gage	782.99	2	1,565.98
	1-36/12b	Band	39.15	3	117.45
	1-36/12t	Total	822.14	XX	1,683.43
18	1-36/10p	36" - 10 gage	978.12	2	1,956.24
	1-36/10b	Band	48.91	3	146.73
	1-36/10t	Total	1,027.03	XX	2,102.97
19	1-42/16p	42" - 16 gage	545.87	2	1,091.74
	1-42/16b	Band	27.29	3	81.87
	1-42/16t	Total	573.16	XX.	1,173.61
20	1-42/14p	42" - 14 gage	664.05	2	1,328.10
	1-42/14b	Band	33.20	3	99.60
	1-42/14t	Total	697.25	XX	1,427.70
21	1-42/12p	42" - 12 gage	910.86	2	1,821.72
	1-42/12b	Band	45.54	3	136.62

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1	1	Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
	1-42/12t	Total	956.40	XX	1,958.34
22	1-42/10p	42" - 10 gage	1,138.29	2	2,276.58
	1-42/10b	Band	56.91	3	170.73
	1-42/10t	Total	1,195.20	XX	2,447.31
23	1-42/8p	42" - 8 gage	1,460.00	2	2,920.00
	1-42/8b	Band	73.00	3	219.00
	1-42/8t	Total	1,533.00	XX	3,139.00
24	1-48/16p	48" - 16 gage	622.82	2	1,245.64
	1-48/16b	Band	31.14	3	93.42
	1-48/16t	Total	653.96	XX	1,339.06
25	1-48/14p	48" - 14 gage	757.72	2	1,515.44
	1-48/14b	Band	37.89	3	113.67
	1-48/14t	Total	795.61	XX	1,629.11
26	1-48/12p	48" - 12 gage	1,039.49	2	2,078.98
	1-48/12b	Band	51.97	3	155.91
	1-48/12t	Total	1,091.46	XX	2,234.89
27	1-48/10p	48" - 10 gage	1,298.46	2	2,596.92
	1-48/10b	Band	64.92	3	194.76
	1-48/10t	Total	1,363.38	XX	2,791.68
28	1-48/8p	48" - 8 gage	1,665.40	2	3,330.80
	1-48/8b	Band	83.27	3	249.81
	1-48/8t	Total	1,748.67	XX	3,580.61
29	1-54/16p	54" - 16 gage*	868.87	2	1,737.74
	1-54/16b	Band	43.44	3	130.32
	1-54/16t	Total	912.31	XX	1,868.06
30	1-54/14p	54" - 14 gage*	1,076.35	2	2,152.70
	1-54/14b	Band	53.82	3	161.46
	1-54/14t	Total	1,130.17	XX	2,314.16
31	1-54/12p	54" - 12 gage	1,167.36	2	2,334.72
	1-54/12b	Band	58.37	3	175.11
	1-54/12t	Total	1,225.73	XX	2,509.83

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
32	1-54/10p	54" - 10 gage	1,458.63	2	2,917.26
	1-54/10b	Band	72.93	3	218.79
	1-54/10t	Total	1,531.56	XX	3,136.05
33	1-54/8p	54" - 8 gage	1,870.60	2	3,741.20
	1-54/8b	Band	93.53	3	280.59
	1-54/8t	Total	1,964.13	XX	4,021.79
34	1-60/16p	60" - 16 gage*	963.87	2	1,927.74
	1-60/16b	Band	48.19	3	144.57
	1-60/16t	Total	1,012.06	XX	2,072.31
35	1-60/14p	60" - 14 gage*	1,193.01	2	2,386.02
	1-60/14b	Band	59.65	3	178.95
	1-60/14t	Total	1,252.66	XX	2,564.97
36	1-60/12p	60" - 12 gage	1,295.80	2	2,591.60
	1-60/12b	Band	64.79	3	194.37
	1-60/12t	Total	1,360.59	XX	2,785.97
37	1-60/10p	60" - 10 gage	1,618.80	2	3,237.60
	1-60/10b	Band	80.94	3	242.82
	1-60/10t	Total	1,699.74	XX	3,480.42
38	1-60/8p	60" - 8 gage	2,076.00	2	4,152.00
	1-60/8b	Band	103.80	3	311.40
	1-60/8t	Total	2,179.80	XX	4,463.40
39	1-66/16p	66" - 16 gage*	1,058.68	2	2,117.36
	1-66/16b	Band	52.93	3	158.79
	1-66/16t	Total	1,111.61	XX	2,276.15
40	1-66/14p	66" - 14 gage*	1,310.43	2	2,620.86
	1-66/14b	Band	65.52	3	196.56
	1-66/14t	Total	1,375.95	XX	2,817.42
41	1-66/12p	66" - 12 gage	1,424.43	2	2,848.86
	1-66/12b	Band	71.22	3	213.66
	1-66/12t	Total	1,495.65	XX.	3,062.52
42	1-66/10p	66" - 10 gage	1,779.16	2	3,558.32

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
	1-66/10b	Band	88.96	3	266.88
	1-66/10t	Total	1,868.12	XX	3,825.20
43	1-66/8p	66" - 8 gage	2,281.40	2	4,562.80
	1-66/8b	Band	114.07	3	342.2
	1-66/8t	Total	2,395.47	XX	4,905.0
44	1-72/16p	72" - 16 gage*	1,153.68	2	2,307.36
	1-72/16b	Band	57.68	3	173.04
	1-72/16t	Total	1,211.36	XX	2,480.40
45	1-72/14p	72" - 14 gage*	1,427.85	2	2,855.70
	1-72/14b	Band	71.39	3	214.17
	1-72/14t	Total	1,499.24	XX	3,069.87
46	1-72/12p	72" - 12 gage*	1,920.52	2	3,841.04
	1-72/12b	Band	96.03	3	288.09
	1-72/12t	Total	2,016.55	XX	4,129.13
47	1-72/10p	72" - 10 gage	1,939.33	2	3,878.66
	1-72/10b	Band	96.97	3	290.9
	1-72/10t	Total	2,036.30	XX	4,169.57
48	1-72/8p	72" - 8 gage	2,486.80	2	4,973.60
	1-72/8b	Band	124.34	3	373.02
	1-72/12b 1-72/10p 1-72/10b 1-72/10t 1-72/8p 1-72/8b 1-72/8t 1-84/16p 1-84/16b	Total	2,611.14	XX	5,346.62
49	1-84/16p	84" - 16 gage*	1,342.73	2	2,685.46
	1-84/16b	Band	67.14	3	201.42
	1-84/16t	Total	1,409.87	XX	2,886.88
50	1-84/14p	84" - 14 gage*	1,662.50	2	3,325.00
	1-84/14b	Band	83.13	3	249.39
	1-84/14t	Total	1,745.63	XX	3,574.39
51	1-84/12p	84" - 12 gage*	2,235.60	2	4,471.20
	1-84/12b	Band	111.78	3	335.34
	1-84/12t	Total	2,347.38	XX	4,806.54
52	1-84/10p	84" - 10 gage*	2,817.70	2	5,635.40
	1-84/10b	Band	140.89	3	422.67

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 1

Part 1p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type 1),

reference section 713.2 of the Standard Specs. Pipe shall

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 1b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 1t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 1		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
	1-84/10t	Total	2,958.59	XX	6,058.07
53	1-84/8p	84" - 8 gage	2,893.40	2	5,786.80
	1-84/8b	Band	144.67	3	434.01
	1-84/8t	Total	3,038.07	XX	6,220.81
54	1-96/16p	96" - 16 gage*	1,532.73	2	3,065.46
	1-96/16b	Band	76.64	3	229.92
	1-96/16t	Total	1,609.37	XX	3,295.38
55	1-96/14p	96" - 14 gage*	1,896.77	2	3,793.54
	1-96/14b	Band	94.84	3	284.52
	1-96/14t	Total	1,991.61	XX	4,078.06
56	1-96/12p	96" - 12 gage*	2,550.60	2	5,101.20
	1-96/12b	Band	127.53	3	382.59
	1-96/12t	Total	2,678.13	XX	5,483.79
57	1-96/10p	96" - 10 gage*	3,214.80	2	6,429.60
	1-96/10b	Band	160.74	3	482.22
	1-96/10t	Total	3,375.54	XX	6,911.82
58	1-96/8p	96" - 8 gage	3,128.73	2	6,257.46
	1-96/8b	Band	156.44	3	469.32
	1-96/8t	Total	3,285.17	XX	6,726.78

^{*} denotes 3"x1" or 5"x1" corrugation, per section 3.3.9 of the specifications

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 2

Part 2p = Pipe - Zinc coated (galvanized) corrugated steel culvert arch pipe

(type II), reference section 713.2 of the Standard Specs.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot

sections.

Part 2b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 2t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 2		Estimated	Extended
Line #	Item #	Span x Rise	Unit Cost	Quantity	Cost
1	2-4933/8p	49" x 33" - 8 gage	1,487.80	2	2,975.60
	2-4933/8b	Band	74.39	3	223.17
	2-4933/8t	Total	1,562.19	XX	3,198.77
2	2-5738/8p	57" x 38" - 8 gage	1,696.00	2	3,392.00
	2-5738/8b	Band	84.80		254.40
	2-5738/8t	Total	1,780.80	XX	3,646.40
3	2-6443/8p	64" x 43" - 8 gage	1,904.00	2	3,808.00
	2-6443/8b	Band	95.20	3	285.60
	2-6443/8t	Total	1,999.20	XX	4,093.60
4	2-7147/8p	Band 74.39 3 Total 1,562.19 XX 57" x 38" - 8 gage 1,696.00 2 Band 84.80 3 Total 1,780.80 XX 54" x 43" - 8 gage 1,904.00 2 Band 95.20 3 Total 1,999.20 XX 71" x 47" - 8 gage 2,112.80 2 Band 105.64 3 Total 2,218.44 XX 73" x 55" - 8 gage* 2,865.77 2 Band 143.29 3 Total 3,009.06 XX Ball x 59" - 8 gage* 3,055.77 2 Band 152.79 3 Total 3,208.56 XX Band 126.55 3 Total 2,657.55 XX Band 126.55 3 Total 2,657.55 XX Band 170.83 3 Total 3,587.43 XX Band 170.83 3 Total 3,587.43 XX	4,225.60		
	2-7147/8b	Band	105.64	3	316.92
	2-7147/8t	Total	2,218.44	XX	4,542.52
5	2-7355/8p	73" x 55" - 8 gage*	2,865.77	2	5,731.54
	2-7355/8b	Band	143.29		429.87
	2-7355/8t	Total	3,009.06	XX	6,161.41
6	2-8159/8p	81" x 59" - 8 gage*	3,055.77	2	6,111.54
	2-8159/8b	Band	152.79	3	458.37
	2-8159/8t	Total	3,208.56	XX.	6,569.91
7	2-8357/8p	83" x 57" - 8 gage	2,531.00	2	5,062.00
	2-8357/8b	Band	126.55		379.65
	2-8357/8t	Total	2,657.55	XX	5,441.65
8	2-8763/8p	87" x 63" - 8 gage*	3,416.60	2	6,833.20
	2-8763/8b	Band			512.49
	2-8763/8t	Total	3,587.43	XX	7,345.69
9	2-9567/8p	95" x 67" - 8 gage*	3,676.40		7,352.80
	2-9567/8b	Band	183.82		551.46
	2-9567/8t	Total	3,860.22	XX	7,904.26
10	2-10371/8p	103" x 71" - 8 gage*	3,937.60	2	7,875.20
	2-10371/8b	Band	196.88	3	590.64
	2-10371/8t	Total	4,134.48	XX	8,465.84

^{*} denotes 3"x1" or 5"x1" corrugation, per section 3.3.9 of the specifications

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 3

Part 3p = Pipe - Zinc coated (galvanized) corrugated steel under-drain pipe

(type III), perforated

and non-perforated, reference section 713.11 of the Standard

Specs.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20

foot sections.

Part 3b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 3t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 3		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
1	3-6/16pP	6" - 16 gage Perforated	93.20	2	186.40
	3-6/16bP	Band	4.66	3	13.98
	3-6/16tP	Total	97.86	36 XX	200.38
2	3-6/16pNP	6" - 16 gage Non-Perforated	88.54	2	177.08
	3-6/16bNP	Band	4.43	3	13.29
	3-6/16tNP	Total	92.97	XX	190.37
3	3-8/16pP	6" - 16 gage Perforated	93.20	2	186.40
	3-8/16bP	Band	4.66	3	13.98
	3-8/16tP	Total	97.86	XX	200.38
4	3-8/16pNP	6" - 16 gage Non-Perforated	88.54	2	177.08
	3-8/16bNP	Band	4.43	3	13.29
	3-8/16tNP	Total	92.97	XX	190.37

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 4

Part 4p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type I), reference

section.

713.2 of the Standard Specs, with grated assemblies made of structural steel,

suitable

welded, to form the open slot and hot-dip galvanized to meet provisions of

ASTM A123.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 4b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each

Part 4t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 4		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
1	4-126/16p	12" w/6" Slot Height - 16 gage	1,016.00	2	2,032.00
	4-126/16b	Band	50.80	3	152.40
	4-126/16t	Total	1,066.80	XX	2,184.40
2	4-126/14p	12" w/6" Slot Height - 14 gage	1,094.60	2	2,189.20
	4-126/14b	Band	54.73	3	164.19
	4-126/14t	Total	1,149.33	XX	2,353.39
3	4-122.5/16p	12" w/2.5" Slot Height - 16 gage	786.80	2	1,573.60
	4-122.5/16b	Band	39.34	3	118.02
	4-122.5/16t	Total	826.14	.XX	1,691.62
4	4-122.5/14p	12" w/2.5" Slot Height - 14 gage	866.00	2	1,732.00
	4-122.5/14b	Band	43.30	3	129.90
	4-122.5/14t	Total	909.30	XX	1,861.90
5	4-156/16p	15" w/6" Slot Height - 16 gage	1,078.40	2	2,156.80
	4-156/16b	Band	53.92	3	161.76
	4-156/16t	Total	1,132.32	XX	2,318.56
6	4-156/14p	15" w/6" Slot Height - 14 gage	1,172.60	2	2,345.20
	4-156/14b	Band	58.63	3	175.89
	4-156/14t	Total	1,231.23	XX	2,521.09
7	4-152.5/16p	15" w/2.5" Slot Height - 16 gage	849.60	2	1,699.20
	4-152.5/16b	Band	42.48	3	127.44
	4-152.5/16t	Total	892.08	XX	1,826.64
8	4-152.5/14p	15" w/2.5" Slot Height - 14 gage	943.40	2	1,886.80
	4-152.5/14b	Band	47.17	3	141.51
	4-152.5/14t	Total	990.57	XX	2,028.31
9	4-186/16p	18" w/6" Slot Height - 16 gage	1,140.40	2	2,280.80
	4-186/16b	Band	57.02	3	171.06
	4-186/16t	Total	1,197.42	XX	2,451.86
10	4-186/14p	18" w/6" Slot Height - 14 gage	1,249.60	2	2,499.20
	4-186/14b	Band	62.48	3	187.44

CORRUGATED METAL CULVERT PIPE - SUPPLEMENTAL ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 4

Part 4p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type I), reference

section.

713.2 of the Standard Specs, with grated assemblies made of structural steel,

suitable

welded, to form the open slot and hot-dip galvanized to meet provisions of

ASTM A123.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 4b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each

Part 4t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 4		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
	4-186/14t	Total	1,312.08	XX	2,686.64
11	4-182.5/16p	18" w/2.5" Slot Height - 16 gage	910.80	2	1,821.60
	4-182.5/16b	Band	45.54	3	136.6
	4-182.5/16t	Total	956.34	XX	1,958.22
12	4-182.5/14p	18" w/2.5" Slot Height - 14 gage	1,020.40	2	2,040.80
	4-182.5/14b	Band	51.02	3	153.06
	4-182.5/14t	Total	1,071.42	XX	2,193.86
13	4-246/16p	24" w/6" Slot Height - 16 gage	1,265.40	2	2,530.80
	4-246/16b	Band	63.27	3	189.8
	4-246/16t	Total	1,328.67	XX	2,720.6
14	4-246/14p	24" w/6" Slot Height - 14 gage	1,404.40	2	2,808.80
	4-246/14b	Band	70.22	3	210.66
	4-246/14t	Total	1,474.62	XX	3,019.46
15	4-242.5/16p	24" w/2.5" Slot Height - 16 gage	1,036.20	2	2,072.40
	4-242.5/16b	Band	51.81	3	155.43
	4-242.5/16t	Total	1,088.01	XX	2,227.83
16	4-242.5/14p	24" w/2.5" Slot Height - 14 gage	1,175.20	2	2,350.40
	4-242.5/14b	Band	58.76	3	176.28
	4-242.5/14t	Total	1,233.96	XX	2,526.68
17	4-306/16p	30" w/6" Slot Height - 16 gage	1,390.40	2	2,780.80
	4-306/16b	Band	69.52	3	208.56
	4-306/16t	Total	1,459.92	XX	2,989.36
18	4-306/14p	30" w/6" Slot Height - 14 gage	1,559.00	2	3,118.00
	4-306/14b	Band	77.95	3	233.85
	4-306/14t	Total	1,636.95	XX	3,351.85
19	4-302.5/16p	30" w/2.5" Slot Height - 16 gage	1,161.20	2	2,322.40
	4-302.5/16b	Band	58.06	3	174.18
	4-302.5/16t	Total	1,219.26	XX	2,496.58
20	4-302.5/14p	30" w/2.5" Slot Height - 14 gage	1,330.20	2	2,660.40

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 4

Part 4p = Pipe - Zinc coated (galvanized) corrugated steel culvert pipe (type I), reference

section.

713.2 of the Standard Specs, with grated assemblies made of structural steel,

suitable

welded, to form the open slot and hot-dip galvanized to meet provisions of

ASTM A123.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot sections.

Part 4b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each

Part 4t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 4		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
	4-302.5/14b	Band	66.51	3	199.53
	4-302.5/14t	Total	1,396.71	XX	2,859.93
21	4-366/16p	36" w/6" Slot Height - 16 gage	NO BID	2	NO BID
	4-366/16b	Band	NO BID	3	NO BID
	4-366/16t	Total	NO BID	XX	NO BID
22	4-366/14p	36" w/6" Slot Height - 14 gage	NO BID	2	NO BID
	4-366/14b	Band	NO BID	3	NO BID
	4-366/14t	Total	NO BID	XX	NO BID
23	4-362.5/16p	36" w/2.5" Slot Height - 16 gage	NO BID	2	NO BID
	4-362.5/16b	Band	NO BID	3	NO BID
	4-362.5/16t	Total	NO BID	XX	NO BID
24	4-362.5/14p	36" w/2.5" Slot Height - 14 gage	NO BID	2	NO BID
	4-362.5/14b	Band	NO BID	3	NO BID
	4-362.5/14t	Total	NO BID	XX	NO BID

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 5

Part 5p = Pipe - Aluminum coated (aluminized) culvert pipe (type 1), reference

section 713.2 of the Standard Specs and AASHTO M36.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot

sections.

Part 5b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 5t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 5		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
1	5-30/16p	30" - 16 gage	412.00	2	824.00
	5-30/16b	Band	20.60	3	61.80
	5-30/16t	Total	432.60	XX	885.80
2	5-30/14p	30" - 14 gage	501.80	2	1,003.60
	5-30/14b	Band	25.09	3	75.27
	5-30/14t	Total	526.89	Quantity 2 3 XX 2 XX	1,078.87
3	5-30/12p	30" - 12 gage	688.80	2	1,377.60
	5-30/12b	Band	34.44	3	103.32
	5-30/12t	Total	723.24	XX	1,480.92
4	5-30/10p	30" - 10 gage	861.00	2	1,722.00
	5-30/10b	Band	43.05	3	129.15
	5-30/10t	Total	904.05	XX	1,851.15
5	5-36/16p	36" - 16 gage	493.60	2	987.20
	5-36/16b	Band	24.68	3	74.04
	5-36/16t	Total	518.28	XX	1,061.24
6	5-36/14p	36" - 14 gage	600.40	2	1,200.80
	5-36/14b	Band	30.02	3	90.06
	5-36/14t	Total	630.42	XX	1,290.86
7	5-36/12p	36" - 12 gage	824.20	2	1,648.40
	5-36/12b	Band	41.21	3	123.63
	5-36/12t	Total	865.41	2 3 XX 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 3 XX 2 3 XX 2 3 XX 2 3 XX 3 XX 2 3 XX 2 3 XX 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 3 XX 2 3 XX 2 3 XX 3 XX 2 3 XX 3 XX 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 2 3 XX 3 XX 2 3 XX 3 XX 3 XX 3 XX 3 XX 3 XX 3 XX 3 XX XX	1,772.03
8	5-36/10p	36" - 10 gage	1,029.60	2	2,059.20
	5-36/10b	Band	51.48	3	154.44
	5-36/10t	Total	1,081.08	XX	2,213.64
9	5-42/16p	42" - 16 gage	574.60	2	1,149.20
	5-42/16b	Band	28.73	3	86.19
	5-42/16t	Total	603.33	XX	1,235.39
10	5-42/14p	42" - 14 gage	699.00	2	1,398.00
	5-42/14b	Band	34.95	3	104.85
	5-42/14t	Total	733.95	XX	1,502.85
11	5-42/12p	42" - 12 gage	958.80	2	1,917.60
	5-42/12b	Band	47.94	3	143.82
	5-42/12t	Total	1,006.74	XX	2,061.42

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 5

Part 5p = Pipe - Aluminum coated (aluminized) culvert pipe (type 1), reference

section 713.2 of the Standard Specs and AASHTO M36.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot

sections.

Part 5b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 5t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 5		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
12	5-42/10p	42" - 10 gage	1,198.20	2	2,396.4
	5-42/10b	Band	59.91	3	179.7
	5-42/10t	Total	1,258.11	XX	2,576.1
13	5-48/16p	48" - 16 gage	655.60	2	1,311.2
	5-48/16b	Band	32.78	3	98.3
	5-48/16t	Total	688.38	Quantity 2 3 XX	1,409.5
14	5-48/14p	48" - 14 gage	797.60	2	1,595.2
	5-48/14b	Band	39.88	3	119.6
	5-42/10p 5-42/10b 5-42/10t T 5-48/16p 5-48/16t T 5-48/16t T 5-48/14p 5-48/14t T 5-48/12p 5-48/12b 5-48/10p 5-48/10b 5-54/16b 5-54/16t 5-54/14p 5-54/14p 5-54/14p 5-54/12p 5-54/12p 5-54/10p	Total	837.48	XX	1,714.8
15	5-48/12p	48" - 12 gage	1,094.20	2	2,188.4
	5-48/12b	Band	54.71	3	164.1
	5-48/12t	Total	1,148.91	XX	2,352.5
16	5-48/10p	48" - 10 gage	1,366.80	2	2,733.6
	5-48/10b	Band	68.34	3	205.0
	5-48/10t	Total	1,435.14	XX	2,938.6
17	5-54/16p	54" - 16 gage*	914.60	2	1,829.2
	5-54/16b	Band	45.73	3	137.1
	5-54/16t	Total	960.33	Quantity 2 3 XX 2 XX	1,966.3
18	5-54/14p	54" - 14 gage	895.60	2	1,791.2
	5-54/14b	Band	44.78		134.3
	5-54/14t	Total	940.38	Quantity 2 3 XX 2 <t< td=""><td>1,925.5</td></t<>	1,925.5
19	5-54/12p	54" - 12 gage	1,228.80	2	2,457.6
	5-54/12b	Band	61.44	3	184.3
	5-54/12t	Total	1,290.24	XX	2,641.9
20	5-54/10p	54" - 10 gage	1,535.40	2	3,070.8
	5-54/10b	Band	76.77	3	230.3
	5-54/10t	Total	1,612.17	XX	3,301.1
21	5-60/16p	60" - 16 gage*	1,014.60	2	2,029.20
	5-60/16b	Band	50.73	3	152.19
	5-60/16t	Total	1,065.33	XX	2,181.39
22	5-60/14p	60" - 14 gage*	1,255.80	2	2,511.60
	5-60/14b	Band	62.79	3	188.37
	5-60/14t	Total	1,318.59	XX	2,699.97

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 5

Part 5p = Pipe - Aluminum coated (aluminized) culvert pipe (type 1), reference

section 713.2 of the Standard Specs and AASHTO M36.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot

sections.

Part 5b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 5t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 5		Estimated	Extended
Line#	Item #	Size	Unit Cost	Quantity	Cost
23	5-60/12p	60" - 12 gage	1,364.00	2	2,728.00
	5-60/12b	Band	68.20	3	204.60
	5-60/12t	Total	1,432.20	XX	2,932.60
34	5-60/10p	60" - 10 gage	1,704.00	2	3,408.00
	5-60/10b	Band	85.20	3	255.60
	5-60/10t	Total	1,789.20	XX	3,663.60
24	5-66/16p	66" - 16 gage*	1,114.40	2	2,228.80
	5-66/16b	Band	55.72	3	167.16
	5-66/16t	Total	1,170.12	XX	2,395.96
25	5-66/14p	66" - 14 gage*	1,379.40	2	2,758.80
	5-66/14b	Band	68.97	3	206.91
	5-66/14t	Total	1,448.37	XX	2,965.71
26	5-66/12p	66" - 12 gage	1,499.40	2	2,998.80
	5-66/12b	Band	74.97	3	224.91
	5-66/12t	Total	1,574.37	Quantity 2 3 XX 2	3,223.71
27	5-66/10p	66" - 10 gage	1,872.80	2	3,745.60
	5-66/10b	Band	93.64	3	280.92
	5-66/10t	Total	1,966.44	XX	4,026.52
28	5-72/16p	72" - 16 gage*	1,214.40	2	2,428.80
	5-72/16b	Band	60.72	3	182.16
	5-72/16t	Total	1,275.12	XX	2,610.96
29	5-72/14p	72" - 14 gage*	1,503.00	2	3,006.00
	5-72/14b	Band	75.15	3	225.45
	5-72/14t	Total	1,578.15	XX	3,231.45
30	5-72/12p	72" - 12 gage*	2,021.60	2	4,043.20
	5-72/12b	Band	101.08	3	303.24
	5-72/12t	Total	2,122.68	XX	4,346.44
31	5-72/10p	72" - 10 gage	2,041.40	2	4,082.80
	5-72/10b	Band	102.07	3	306.21
	5-72/10t	Total	2,143.47	XX	4,389.01
32	5-84/16p	84" - 16 gage*	1,413.40	2	2,826.80
	5-84/16b	Band	70.67		212.01
	5-84/16t	Total	1,484.07		3,038.81

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE

LANE ENTERPRISES, INC.

ITEM 5

Part 5p =

Pipe - Aluminum coated (aluminized) culvert pipe (type 1), reference

section 713.2 of the Standard Specs and AASHTO M36.

Pipe shall be in 20 foot sections. Unit Cost shall be per 20 foot

sections.

Part 5b =

Bands - Shall be the bands for the previous Pipe. Unit Cost shall

be Each.

Part 5t =

Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 5		Estimated	Extended
Line #	Item #	Size	Unit Cost	Quantity	Cost
33	5-84/14p	84" - 14 gage*	1,750.00	2	3,500.00
	5-84/14b	Band	87.50	3	262.50
	5-84/14t	Total	1,837.50	XX	3,762.50
34	5-84/12p	84" - 12 gage*	2,353.20	2	4,706.40
	5-84/12b	Band	117.66	3	352.98
	5-84/12t	Total	2,470.86	XX	5,059.38
35	5-84/10p	84" - 10 gage*	2,966.00	2	5,932.00
	5-84/10b	Band	148.30	3	444.90
	5-84/10t	Total	3,114.30	XX	6,376.90
36	5-96/16p	96" - 16 gage*	1,613.40	2	3,226.80
	5-96/16b	Band	80.67	3	242.01
	5-96/16t	Total	1,694.07	XX	3,468.81
37	5-96/14p	96" - 14 gage*	1,996.60	2	3,993.20
	5-96/14b	Band	99.83	3	299.49
	5-96/14t	Total	2,096.43	XX	4,292.69
38	5-96/12p	96" - 12 gage*	2,684.80	2	5,369.60
	5-96/12b	Band	134.24	3	402.72
	5-96/12t	Total	2,819.04	XX	5,772.32
39	5-96/10p	96" - 10 gage*	3,384.00	2	6,768.00
	5-96/10b	Band	169.20	3	507.60
	5-96/10t	Total	3,553.20	XX	7,275.60

^{*} denotes 3"x1" or 5"x1" corrugation, per section 3.3.9 of the specifications

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 6

Part 6p = Pipe - Corrugated aluminum alloy under-drain pipe (type III), perforated,

reference section 713.16 of the Standard Specs. Pipe shall be in

20 foot sections. Unit Cost shall be per 20 foot sections.

Part 6b = Bands - Shall be the bands for the previous Pipe. Unit Cost shall be Each.

Part 6t = Total - Shall be the total cost for Part "p" and Part "b".

		ITEM 6		Estimated	Extended
Line #	item #	Size	Unit Cost	Quantity	Cost
1	6-6/16p	6" - 16 gage	136.00	2	272.00
	6-6/16b	Band	6.80	3	20.40
	6-6/16t	Total	142.80	XX	292.40

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
1	7-892614a	8'9" x 2'6" 1.4' Cover 3-Sided Shell	158.48	2	316.96
	7-892620a	8'9" x 2'6" 2.0' Cover 3-Sided Shell	158.48	2	316.96
	7-892630a	8'9" x 2'6" 3.0' Cover 3-Sided Shell	158.48	2	316.96
	7-8926Ala	8'9" x 2'6" Full Aluminum Invert	92.90	2	185.80
	7-89Hb	8'9" Headwall	1119.37	1	1119.37
	7-89CPb	8'9" Corner Panel	620.25	1	620.25
	7-89WPb	8'9" Additional Wing Panel	512.78	1	512.78
	7-89t	Total	2820.75	XX	3389.0
2	7-923314a	9'2" x 3'3" 1.4' Cover 3-Sided Shell	183.98	2	367.96
	7-923320a	9'2" x 3'3" 2.0' Cover 3-Sided Shell	183.98	2	367.96
	7-923330a	9'2" x 3'3" 3.0' Cover 3-Sided Shell	183.98	2	367.96
	7-9233Ala	9'2" x 3'3" Full Aluminum Invert	92.90	2	185.80
	7-92Hb	9'2" Headwall	1208.63	1	1208.63
	7-92CPb	9'2" Corner Panel	669.44	1	669.44
	7-92WPb	9'2" Additional Wing Panel	548.30	1	548.30
	7-92t	Total	3071.22	XX	3716.06
3	7-974114a	9'7" x 4'1" 1.4' Cover 3-Sided Shell	196.73	2	393.47
	7-974120a	9'7" x 4'1" 2.0' Cover 3-Sided Shell	196.73	2	393.47
	7-974130a	9'7" x 4'1" 3.0' Cover 3-Sided Shell	196.73	2	393.47
	7-9741Ala	9'7" x 4'1" Full Aluminum Invert	98.37	2	196.73
	7-97Hb	9'7" Headwall	1298.80	1	1298.80
	7-97CPb	9'7" Corner Panel	718.62	1	718.62
	7-97WPb	9'7" Additional Wing Panel	584.73	1	584.73
	7-97t	Total	3290.72	XX.*	3979.29
4	7-10041014a	10'0" x 4'10" 1.4' Cover 3-Sided Shell	210.39	2	420.79
	7-10041020a	10'0" x 4'10" 2.0' Cover 3-Sided Shell	210.39	2	420.79
	7-10041030a	10'0" x 4'10" 3.0' Cover 3-Sided Shell	210.39	2	420.79
	7-100410Ala	10'0" x 4'10" Full Aluminum Invert	98.37	2	196.73
	7-100Hb	10'0" Headwall	1388.97	1	1388.97
	7-100CPb	10'0" Corner Panel	767.80	1	767.80
	7-100WPb	10'0" Additional Wing Panel	621.17	1	621.17
	7-100t	Total	3507.49	XX	4237.04
5	7-1022814a	10'2" x 2'8" 1.4' Cover 3-Sided Shell	217.68	2	435.36
	7-1022820a	10'2" x 2'8" 2.0' Cover 3-Sided Shell	195.82	2	391.64
	7-1022830a	10'2" x 2'8" 3.0' Cover 3-Sided Shell	195.82	2	391.64

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-10228Ala	10'2" x 2'8" Full Aluminum Invert	103.83	2	207.66
	7-102Hb	10'2" Headwall	1268.74	1	1268.74
	7-102CPb	10'2" Corner Panel	669.44	1	669.44
	7-102WPb	10'2" Additional Wing Panel	548.30	1	548.30
	7-102t	Total	3199.64	XX	3912.80
6	7-1065714a	10'6" x 5'7" 1.4' Cover 3-Sided Shell	252.29	2	504.58
	7-1065720a	10'6" x 5'7" 2.0' Cover 3-Sided Shell	224.06	2	448.11
	7-1065730a	10'6" x 5'7" 3.0' Cover 3-Sided Shell	224.06	2	448.11
	7-10657Ala	10'6" x 5'7" Full Aluminum Invert	103.83	2	207.66
	7-106Hb	10'6" Headwall	1479.14	1	1479.14
	7-106CPb	10'6" Corner Panel	816.99	Quantity 2 1 1 1 XX 2 2 2 2	816.99
	7-106WPb	10'6" Additional Wing Panel	657.60		657.60
	7-106t	Total	3757.96	XX	4562.20
7	7-1073514a	10'7" x 3'5" 1.4' Cover 3-Sided Shell	235.90	2	471.79
•	7-1073520a	10'7" x 3'5" 2.0' Cover 3-Sided Shell	211.31	2	422.61
	7-1073530a	10'7" x 3'5" 3.0' Cover 3-Sided Shell	211.31	2	422.61
	7-10735Ala	10'7" x 3'5" Full Aluminum Invert	103.83	2	207.66
	7-107Hb	10'7" Headwall	1362.56	1	1362.56
	7-107CPb	10'7" Corner Panel	718.62	1	718.62
	7-107WPb	10'7" Additional Wing Panel	584.73	1	584.73
	7-107t	Total	3428.25	XX	4190.59
8	7-10114314a	10'11" x 4'3" 1.4' Cover 3-Sided Shell	251.38	2	502.76
Ū	7-10114320a	10'11" x 4'3" 2.0' Cover 3-Sided Shell	224.06	2	448.11
	7-10114330a	10'11" x 4'3" 3.0' Cover 3-Sided Shell	224.06	2	448.11
	7-101143Ala	10'11" x 4'3" Full Aluminum Invert	109.30	2	218.59
	7-1011Hb	10'11" Headwall	1569.31	1	1569.31
	7-1011CPb	10'11" Corner Panel	866.17	Quantity 2 1 1 1 1 1	866.17
	7-1011WPb	10'11" Additional Wing Panel	694.03	1	694.03
	7-1011t	Total	3938.30	XX	4747.09
9	7-10116414a	10'11" x 6'4" 1.4' Cover 3-Sided Shell	267.78	2	535.55
-	7-10116420a	10'11" x 6'4" 2.0' Cover 3-Sided Shell	237.72	2 1 1 1 1 4 XX 2 2 2 2 1 1 1 1 1 1 5 XX 2 2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1	475.44
	7-10116430a	10'11" x 6'4" 3.0' Cover 3-Sided Shell	237.72	2	475.44
	7-101164Ala	10'11" x 6'4" Full Aluminum Invert	109.30	2	218.59
	7-1011Hb	10'11" Headwall	1457.28	2 1 1 1 1 1 XX 2 2 2 1 1 1 1 XX 2 2 2 1 1 1 1	1457.28
	7-1011CPb	10'11" Corner Panel	767.80		767.80

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
_ine#	I Item#	Span x Rise	Unit Cost	Quantity	Cost
	7-1011WPb	10'11" Additional Wing Panel	621.17	1	621.17
	7-1011t	Total	3698.76	XX	4551.27
10	7-1145014a	11'4" x 5'0" 1.4' Cover 3-Sided Shell	287.81	2	575.63
10	7-1145020a	11'4" x 5'0" 2.0' Cover 3-Sided Shell	267.78	2	535.55
	7-1145030a	11'4" x 5'0" 3.0' Cover 3-Sided Shell	237.72	2	475.44
	7-11450Ala	11'4" x 5'0" Full Aluminum Invert	109.30	2	218.59
	7-114Hb	11'4" Headwall	1659.48	1	1659.48
	7-114CPb	11'4" Corner Panel	915.35	1	915.35
	7-114WPb	11'4" Additional Wing Panel	730.46	1	730.46
	7-114t	Total	4207.90	XX	5110.50
11	7-1147214a	11'4" x 7'2" 1.4' Cover 3-Sided Shell	286.90	2	573.80
	7-1147220a	11'4" x 7'2" 2.0' Cover 3-Sided Shell	286.90	2	573.80
	7-1147230a	11'4" x 7'2" 3.0' Cover 3-Sided Shell	251.38	2	502.76
	7-11472Ala	11'4" x 7'2" Full Aluminum Invert	110.21	2	220.41
	7-114Hb	11'4" Headwall	1591.17	1	1591.17
	7-114CPb	11'4" Corner Panel	801.50	1	801.50
	7-114WPb	11'4" Additional Wing Panel	654.87	1	654.87
	7-114t	Total	3982.93	XX	4918.32
12	7-11721014a	11'7" x 2'10" 1.4' Cover 3-Sided Shell	276.88	2	553.77
	7-11721020a	11'7" x 2'10" 2.0' Cover 3-Sided Shell	247.74	2	495.48
	7-11721030a	11'7" x 2'10" 3.0' Cover 3-Sided Shell	223.15	2	446.29
	7-117210Ala	11'7" x 2'10" Full Aluminum Invert	109.30	2	218.59
	7-117Hb	11'7" Headwall	1325.21	1	1325.21
	7-117CPb	11'7" Corner Panel	669.44	1	669.44
	7-117WPb	11'7" Additional Wing Panel	548.30	1	548.30
	7-117t	Total	3400.02	XX,	4257.08
13	7-1185914a	11'8" x 5'9" 1.4' Cover 3-Sided Shell	301.47	2	602.95
	7-1185920a	11'8" x 5'9" 2.0' Cover 3-Sided Shell	284.17	2	568.34
	7-1185930a	11'8" x 5'9" 3.0' Cover 3-Sided Shell	251.38	2	502.76
	7-11859Ala	11'8" x 5'9" Full Aluminum Invert	115.67	2	231.34
	7-118Hb	11'8" Headwall	1678.60	1	1678.60
	7-118CPb	11'8" Corner Panel	847.95	1	847.95
	7-118WPb	11'8" Additional Wing Panel	688.56	1	688.56
	7-118t	Total	4167.82	XX	5120.52
14	7-11113714a	11'11" x 3'7" 1.4' Cover 3-Sided Shell	294.19	2	588.38

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-11113720a	11'11" x 3'7" 2.0' Cover 3-Sided Shell	266.86	2	533.73
	7-11113730a	11'11" x 3'7" 3.0' Cover 3-Sided Shell	239.54	2	479.08
	7-111137Ala	11'11" x 3'7" Full Aluminum Invert	115.67	2	231.34
	7-1111Hb	11'11" Headwall	1407.19	1	1407.19
	7-1111CPb	11'11" Corner Panel	718.62	1	718.62
	7-1111WPb	11'11" Additional Wing Panel	584.73	1	584.73
	7-1111t	Total	3626.81	XX	4543.07
15	7-1216714a	12'1" x 6'7" 1.4' Cover 3-Sided Shell	315.14	2	630.27
	7-1216720a	12'1" x 6'7" 2.0' Cover 3-Sided Shell	296.01	2	592.02
	7-1216730a	12'1" x 6'7" 3.0' Cover 3-Sided Shell	265.04	2	530.09
	7-12167Ala	12'1" x 6'7" Full Aluminum Invert	115.67	2	231.34
	7-121Hb	12'1" Headwali	1782.44	1	1782.44
	7-121CPb	12'1" Corner Panel	900.78	1	900.78
	7-121WPb	12'1" Additional Wing Panel	728.64	1	728.64
	7-121t	Total	4403.72	2 2 1	5395.58
16	7-1234514a	12'3" x 4'5" 1.4' Cover 3-Sided Shell	312.40	2	624.81
	7-1234520a	12'3" x 4'5" 2.0' Cover 3-Sided Shell	281.44	2	562.87
	7-1234530a	12'3" x 4'5" 3.0' Cover 3-Sided Shell	251.38	2	502.76
	7-12345Ala	12'3" x 4'5" 1.4' Full Aluminium Invert	114.84	2	229.68
	7-123Hb	12'3" Headwall	1497.36	1	1497.36
	7-123CPb	12'3" Corner Panel	767.80	1	767.80
	7-123WPb	12'3" Additional Wing Panel	621.17	1	621.17
	7-1230t	Total	3846.39	2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 1	4806.45
17	7-1257414a	12'5" x 7'4" 1.4' Cover 3-Sided Shell	358.86	2	717.71
	7-1257420a	12'5" x 7'4" 2.0' Cover 3-Sided Shell	329.71		659.42
	7-1257430a	12'5" x 7'4" 3.0' Cover 3-Sided Shell	278.70	2	557.41
	7-12574Ala	12'5" x 7'4" Full Aluminum Invert	115.67	2	231.34
	7-125Hb	12'5" Headwall	1878.07	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1878.07
	7-125CPb	12'5" Corner Panel	949.96	1	949.96
	7-125WPb	12'5" Additional Wing Panel	765.07	1	765.07
	7-125t	Total	4676.05	XX	5758.99
18	7-1275214a	12'7" x 5'2" 1.4' Cover 3-Sided Shell	358.86	2	717.71
	7-1275220a	12'7" x 5'2" 2.0' Cover 3-Sided Shell	329.71	2	659.42
	7-1275230a	12'7" x 5'2" 3.0' Cover 3-Sided Shell	265.95	2	531.91
	7-12752Ala	12'7" x 5'2" Full Aluminum Invert	121.14	2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	242.27

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-127Hb	12'7" Headwall	1587.52	1	1587.52
	7-127CPb	12'7" Corner Panel	816.99	1	816.99
	7-127WPb	12'7" Additional Wing Panel	657.60	1	657.60
	7-127t	Total	4137.76	XX	5213.42
19	7-12116014a	12'11" x 6'0" 1.4' Cover 3-Sided Shell	373.43	2	746.86
	7-12116020a	12'11" x 6'0" 2.0' Cover 3-Sided Shell	346.10	2	692.21
	7-12116030a	12'11" x 6'0" 3.0' Cover 3-Sided Shell	279.62	2	559.23
	7-121160Ala	12'11" x 6'0" Full Aluminum Invert	121.14	2	242.27
	7-1211Hb	12'11" Headwall	1677.69	1	1677.69
	7-1211CPb	12'11" Corner Panel	866.17	1	866.17
	7-1211WPb	12'11" Additional Wing Panel	694.03	2 2 1	694.03
	7-1211t	Total	4358.18	XX.	5478.46
20	7-1303014a	13'0" x 3'0" 1.4' Cover 3-Sided Shell	334.26	2	668.53
	7-1303020a	13'0" x 3'0" 2.0' Cover 3-Sided Shell	306.03		612.06
	7-1303030a	13'0" x 3'0" 3.0' Cover 3-Sided Shell	278.70	2	557.41
	7-13030Ala	13'0" x 3'0" Full Aluminum Invert	121.14	2	242.27
	7-130Hb	13'0" Headwall	1363.47	1	1363.47
	7-130CPb	13'0" Corner Panel	669.44	1	669.44
	7-130WPb	13'0" Additional Wing Panel	548.30	1	548.30
	7-130t	Total	3621.34	XX	4661.47
21	7-1336914a	13'3" x 6'9" 1.4' Cover 3-Sided Shell	387.09	2	774.18
	7-1336920a	13'3" x 6'9" 2.0' Cover 3-Sided Shell	360.68		721.35
	7-1336930a	13'3" x 6'9" 3.0' Cover 3-Sided Shell	332.44	2	664.88
	7-13369Ala	13'3" x 6'9" Full Aluminum Invert	125.69	2	251.38
	7-133Hb	13'3" Headwall	1767.86	1	1767.86
	7-133CPb	13'3" Corner Panel	915.35	1	915.35
	7-133WPb	13'3" Additional Wing Panel	730.46	1	730.46
	7-133t	Total	4619.58	XX	5825.48
22	7-13431014a	13'4" x 3'10" 1.4' Cover 3-Sided Shell	376.16	2	752.32
	7-13431020a	13'4" x 3'10" 2.0' Cover 3-Sided Shell	327.89	2	655.78
	7-13431030a	13'4" x 3'10" 3.0' Cover 3-Sided Shell	296.92	2	593.84
	7-134310Ala	13'4" x 3'10" Full Aluminum Invert	126.60	2	253.20
	7-134Hb	13'4" Headwall	1453.64	1	1453.64
	7-134CPb	13'4" Corner Panel	718.62	1	718.62
	7-134WPb	13'4" Additional Wing Panel	584.73	1	584.73

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-134t	Total	3884.56	XX	5012.13
23	7-1374714a	13'7" x 4'7" 1.4' Cover 3-Sided Shell	392.55	2	785.11
	7-1374720a	13'7" x 4'7" 2.0' Cover 3-Sided Shell	375.25	2	750.50
	7-1374730a	13'7" x 4'7" 3.0' Cover 3-Sided Shell	311.49	Quantity 6, XX 2 2 2 1 1 1 1 1 1 1 1 1 1	622.99
	7-13747Ala	13'7" x 4'7" Full Aluminum Invert	126.60	2	253.20
	7-137Hb	13'7" Headwall	1543.81	1	1543.81
	7-137CPb	13'7" Corner Panel	767.80	1	767.80
	7-137WPb	13'7" Additional Wing Panel	621.17	1	621.17
	7-137t	Total	4138.68	XX	5344.57
24	7-13105514a	13'10" x 5'5" 1.4' Cover 3-Sided Shell	408.29	2	816.59
	7-13105520a	13'10" x 5'5" 2.0' Cover 3-Sided Shell	408.29	2	816.59
	7-13105530a	13'10" x 5'5" 3.0' Cover 3-Sided Shell	325.16	2	650.31
	7-131055Ala	13'10" x 5'5" Full Aluminum Invert	126.60	2	253.20
	7-1310Hb	13'10" Headwall	1633.98	1	1633.98
	7-1310CPb	13'10" Corner Panel	816.99	1	816.99
	7-1310WPb	13'10" Additional Wing Panel	657.60	1	657.60
	7-1310t	Total	4376.90	XX	5645.25
25	7-1416214a	14'1" x 6'2" 1.4' Cover 3-Sided Shell	444.47	2	888.94
	7-1416220a	14'1" x 6'2" 2.0' Cover 3-Sided Shell	415.32	2	830.65
	7-1416230a	14'1" x 6'2" 3.0' Cover 3-Sided Shell	346.10	2	692.21
	7-14162Ala	14'1" x 6'2" Full Aluminium Invert	138.44	2	276.88
	7-141Hb	14'1" Headwall	1724.14	1	1724.14
	7-141CPb	14'1" Corner Panel	866.17	2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 2	866.17
	7-141WPb	14'1" Additional Wing Panel	694.94	1	694.94
	7-141t	Total	4629.60	XX	5973.94
26	7-1453314a	14'5" x 3'3" 1.4' Cover 3-Sided Shell	421.70	2	843.40
	7-1453320a	14'5" x 3'3" 2.0' Cover 3-Sided Shell	392.55		785.11
	7-1453330a	14'5" x 3'3" 3.0' Cover 3-Sided Shell	337.91	2 2 2 2 1 1 1 1 1 1	675.81
	7-14533Ala	14'5" x 3'3" Full Aluminum Invert	164.85	2	329.71
	7-145Hb	14'5" Headwall	1453.64	1	1453.64
	7-145CPb	14'5" Corner Panel	669.44	1	669.44
	7-145WPb	14'5" Additional Wing Panel	548.30	1	548.30
	7-145t	Total	3988.39	XX	5305.41
27	7-1484114a	14'8" x 4'1" 1.4' Cover 3-Sided Shell	449.02	2	898.05
	7-1484120a	14'8" x 4'1" 2.0' Cover 3-Sided Shell	409.86	2	819.72

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-1484130a	14'8" x 4'1" 3.0' Cover 3-Sided Shell	354.30	2	708.60
	7-14841Ala	14'8" x 4'1" Full Aluminum Invert	164.85	2	329.71
	7-148Hb	14'8" Headwall	1547.45	1	1547.45
	7-148CPb	14'8" Corner Panel	718.62	1	718.62
	7-148WPb	14'8" Additional Wing Panel	584.73	1	584.73
	7-148t	Total	4228.84	XX,	5606.88
28	7-141041014a	14'10" x 4'10" 1.4' Cover 3-Sided Shell	473.62	2	947.23
	7-141041020a	14'10" x 4'10" 2.0' Cover 3-Sided Shell	439.92	2	879.83
	7-141041030a	14'10" x 4'10" 3.0' Cover 3-Sided Shell	373.43	2	746.86
	7-1410410Ala	14'10" x 4'10" Full Aluminum Invert	164.85	2	329.71
	7-1410Hb	14'10" Headwall	1643.99	1	1643.99
	7-1410CPb	14'10" Corner Panel	767.80	1	767.80
	7-1410WPb	14'10" Additional Wing Panel	622.08	1	622.08
	7-1410t	Total	4485.69	XX	5937.51
29	7-1515814a	15'1" x 5'8" 1.4' Cover 3-Sided Shell	485.46	2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	970.91
	7-1515820a	15'1" x 5'8" 2.0' Cover 3-Sided Shell	464.51	2	929.02
	7-1515830a	15'1" x 5'8" 3.0' Cover 3-Sided Shell	397.11	2	794.22
	7-15158Ala	15'1" x 5'8" Full Aluminum Invert	171.23	2	342.46
	7-151Hb	15'1" Headwali	1739.63	1	1739.63
	7-151CPb	15'1" Corner Panel	818.40	2 2 1	818.40
	7-151WPb	15'1" Additional Wing Panel	657.60	1	657.60
	7-151t	Total	4733.93	XX	6252.23
30	7-1546514a	15'4" x 6'5" 1.4' Cover 3-Sided Shell	519.16	2	1038.31
	7-1546520a	15'4" x 6'5" 2.0' Cover 3-Sided Shell	478.17	2	956.34
	7-1546530a	15'4" x 6'5" 3.0' Cover 3-Sided Shell	410.77	2	821.54
	7-15465Ala	15'4" x 6'5" Full Aluminum Invert	170.32	2	340.64
	7-154Hb	15'4" Headwall	1835.26	1	1835.26
	7-154CPb	15'4" Corner Panel	866.17	1	866.17
	7-154WPb	15'4" Additional Wing Panel	694.94		694.94
	7-154t	Total	4974.79	XX	6553.21
31	7-1567314a	15'6" x 7'3" 1.4' Cover 3-Sided Shell	546.48	2	1092.96
29	7-1567320a	15'6" x 7'3" 2.0' Cover 3-Sided Shell	491.83	2	983.66
	7-1567330a	15'6" x 7'3" 3.0' Cover 3-Sided Shell	424.43	2	848.87
	7-15673Ala	15'6" x 7'3" Full Aluminum Invert	172.14	2	344.28
	7-156Hb	15'6" Headwall	1930.90	1	1930.90

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	item #	Span x Rise	Unit Cost	Quantity	Cost
	7-156CPb	15'6" Corner Panel	915.35	1	915.35
	7-156WPb	15'6" Additional Wing Panel	730.46	1	730.46
	7-156t	Total	5211.60	XX	6846.48
32	7-1598014a	15'9" x 8'0" 1.4' Cover 3-Sided Shell	555.59	2	1111.18
02	7-1598020a	15'9" x 8'0" 2.0' Cover 3-Sided Shell	537.37	2	1074.74
	7-1598030a	15'9" x 8'0" 3.0' Cover 3-Sided Shell	472.71	2	945.41
	7-15980Ala	15'9" x 8'0" Full Aluminum Invert	175.78	2	351.57
	7-159Hb	15'9" Headwall	2026.53	1	2026.53
	7-159CPb	15'9" Corner Panel	965.45	1	965.45
	7-159WPb	15'9" Additional Wing Panel	766.89	1	766.89
	7-159t	Total	5500.32	XX	7241.77
33	7-15103614a	15'10" x 3'6" 1.4' Cover 3-Sided Shell	510.96	2	1021.92
33 34 35 7	7-15103620a	15'10" x 3'6" 2.0' Cover 3-Sided Shell	471.79	2	943.59
	7-15103630a	15'10" x 3'6" 3.0' Cover 3-Sided Shell	402.57	2	805.15
	7-151036Ala	15'10" x 3'6" Full Aluminum Invert	177.61	XX 2 2 2 1 1 1 1 1 XX 2 2 2	355.21
	7-1510Hb	15'10" Headwall	1567.49	1	1567.49
	7-1510CPb	15'10" Corner Panel	719.53	1	719.53
	7-1510WPb	15'10" Additional Wing Panel	584.73	1	584.73
	7-1510t	Total	4434.69	XX	5997.62
34	7-1604314a	16'0" x 4'3" 1.4' Cover 3-Sided Shell	545.57	2	1091.14
	7-1604320a	16'0" x 4'3" 2.0' Cover 3-Sided Shell	505.49		1010.99
	7-1604330a	16'0" x 4'3" 3.0' Cover 3-Sided Shell	428.08	2	856.15
	7-16043Ala	16'0" x 4'3" Full Aluminum Invert	174.87	2	349.75
	7-160Hb	16'0" Headwall	1648.55	1	1648.55
	7-160CPb	16'0" Corner Panel	767.80	1	767.80
	7-160WPb	16'0" Additional Wing Panel	621.17	1	621.17
	7-160t	Total	4691.53	XX	6345.54
35	7-1625114a	16'2" x 5'1" 1.4' Cover 3-Sided Shell	560.14	2	1120.28
	7-1625120a	16'2" x 5'1" 2.0' Cover 3-Sided Shell	520.07	2	1040.13
	7-1625130a	16'2" x 5'1" 3.0' Cover 3-Sided Shell	437.18	2	874.37
	7-16251Ala	16'2" x 5'1" Full Aluminum Invert	174.87	2	349.75
	7-162Hb	16'2" Headwall	1747.83	1	1747.83
	7-162CPb	16'2" Corner Panel	816.99	1	816.99
	7-162WPb	16'2" Additional Wing Panel	657.60	1	657.60
	7-162t	Total	4914.68	XX	6606.94

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line #	Item#	Span x Rise	Unit Cost	Quantity	Cost
36	7-16451114a	16'4" x 5'11" 1.4' Cover 3-Sided Shell	586.56	2	1173.11
	7-16451120a	16'4" x 5'11" 2.0' Cover 3-Sided Shell	535.55	2	1071.10
	7-16451130a	16'4" x 5'11" 3.0' Cover 3-Sided Shell	444.47	Quantity 2	888.94
	7-164511Ala	16'4" x 5'11" Full Aluminium Invert	175.78	2	351.57
	7-164Hb	16'4" Headwall	1837.99	1	1837.99
	7-164CPb	16'4" Corner Panel	866.17	1	866.17
	7-164WPb	16'4" Additional Wing Panel	694.94	1	694.94
	7-164t	Total	5141.47	XX	6883.83
37	7-1666814a	16'6" x 6'8" 1.4' Cover 3-Sided Shell	625.72	2	1251.44
	7-1666820a	16'6" x 6'8" 2.0' Cover 3-Sided Shell	564.70	2	1129.39
	7-1666830a	16'6" x 6'8" 3.0' Cover 3-Sided Shell	473.62	2	947.23
	7-16668Ala	16'6" x 6'8" Full Aluminum Invert	182.16	2	364.32
	7-166Hb	16'6" Headwall	1928.16	1	1928.16
	7-166CPb	16'6" Corner Panel	915.35	1	915.35
	7-166WPb	16'6" Additional Wing Panel	730.46	Quantity 2 2 2 2 1 1 1 1 1	730.46
	7-166t	Total	5420.17	XX	7266.36
38	7-1687614a	16'8" x 7'6" 1.4' Cover 3-Sided Shell	649.40	2	1298.80
	7-1687620a	16'8" x 7'6" 2.0' Cover 3-Sided Shell	580.18	2	1160.36
	7-1687630a	16'8" x 7'6" 3.0' Cover 3-Sided Shell	519.16	2	1038.31
	7-16876Ala	16'8" x 7'6" Full Aluminum Invert	182.16	2	364.32
	7-168Hb	16'8" Headwall	2018.33	1	2018.33
	7-168CPb	16'8" Corner Panel	964.54	1	964.54
	7-168WPb	16'8" Additional Wing Panel	766.89	1	766.89
	7-168t	Total	5680.66	XX	7611.56
39	7-16108314a	16'10" x 8'3" 1.4' Cover 3-Sided Shell	673.99	2	1347.98
	7-16108320a	16'10" x 8'3" 2.0' Cover 3-Sided Shell	601.13	2	1202.26
	7-16108330a	16'10" x 8'3" 3.0' Cover 3-Sided Shell	530.09	2	1060.17
	7-161083Ala	16'10" x 8'3" Full Aluminum Invert	182.16	2	364.32
	7-1610Hb	16'10" Headwall	2108.50	2 2 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2108.50
	7-1610CPb	16'10" Corner Panel	1203.17		1203.17
	7-1610WPb	16'10" Additional Wing Panel	992.77	1	992.77
	7-1610t	Total	6291.81	XX	8279.17
40	7-17931014a	17'9" x 3'10" 1.4' Cover 3-Sided Shell	593.84		1187.68
	7-17931020a	17'9" x 3'10" 2.0' Cover 3-Sided Shell	551.03	2	1102.07
	7-17931030a	17'9" x 3'10" 3.0' Cover 3-Sided Shell	460.86	2	921.73

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-179310Ala	17'9" x 3'10" Full Aluminum Invert	197.64	2	395.29
	7-179Hb	17'9" Headwall	1697.73	1	1697.73
	7-179CPb	17'9" Corner Panel	718.62	1	718.62
	7-179WPb	17'9" Additional Wing Panel	584.73	1	584.73
	7-179t	Total	4804.47	XX	6607.85
41	7-1824714a	18'2" x 4'7" 1.4' Cover 3-Sided Shell	633.01	2	1266.01
	7-1824720a	18'2" x 4'7" 2.0' Cover 3-Sided Shell	601.13	2	1202.26
	7-1824730a	18'2" x 4'7" 3.0' Cover 3-Sided Shell	500.94	2	1001.88
	7-18247Ala	18'2" x 4'7" Full Aluminum Invert	203.11	2	406.22
	7-182Hb	18'2" Headwall	1793.37	2 1 1 1 1 XX 2 2 2	1793.37
	7-182CPb	18'2" Corner Panel	767.80		767.80
	7-182WPb	18'2" Additional Wing Panel	621.17		621.17
	7-182t	Total	5120.52	XX	7058.70
42	7-1875414a	18'7" x 5'4" 1.4' Cover 3-Sided Shell	674.90	2	1349.81
42	7-1875420a	18'7" x 5'4" 2.0' Cover 3-Sided Shell	619.34	2	1238.69
	7-1875430a	18'7" x 5'4" 3.0' Cover 3-Sided Shell	528.26	2	1056.53
	7-18754Ala	18'7" x 5'4" Full Aluminum Invert	202.20	2	404.40
	7-187Hb	18'7" Headwall	1888.09	1	1888.09
	7-187CPb	18'7" Corner Panel	816.99	1	816.99
	7-187WPb	18'7" Additional Wing Panel	657.60	1	657.60
	7-187t	Total	5387.38	XX	7412.09
43	7-1906114a	19'0" x 6'1" 1.4' Cover 3-Sided Shell	712.25	2	1424.49
	7-1906120a	19'0" x 6'1" 2.0' Cover 3-Sided Shell	649.40	Quantity 2 1 1 1 1 1	1298.80
	7-1906130a	19'0" x 6'1" 3.0' Cover 3-Sided Shell	568.34		1136.68
	7-19061Ala	19'0" x 6'1" Full Aluminum Invert	207.66	2	415.32
	7-190Hb	19'0" Headwall	1982.81	1	1982.81
	7-190CPb	19'0" Corner Panel	866.17	1	866.17
	7-190WPb	19'0" Additional Wing Panel	694.94	1	694.94
	7-190t	Total	5681.57	XX,	7819.22
44	7-1914214a	19'1" x 4'2" 1.4' Cover 3-Sided Shell	692.05		1384.10
	7-1914220a	19'1" x 4'2" 2.0' Cover 3-Sided Shell	632.81	2	1265.62
	7-1914230a	19'1" x 4'2" 3.0' Cover 3-Sided Shell	538.56	2	1077.12
	7-19142Ala	19'1" x 4'2" Full Aluminum Invert	204.65	2	409.31
	7-191Hb	19'1" Headwall	1849.95	Quantity 2 1 1 1 1 1	1849.95
	7-191CPb	19'1" Corner Panel	756.68	1	756.68

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-191WPb	19'1" Additional Wing Panel	612.16	1	612.16
	7-191t	Total	5286.86	XX	7354.93
45	7-19541114a	19'5" x 4'11" 1.4' Cover 3-Sided Shell	731.54	2	1463.09
	7-19541120a	19'5" x 4'11" 2.0' Cover 3-Sided Shell	673.20	2	1346.40
	7-19541130a	19'5" x 4'11" 3.0' Cover 3-Sided Shell	596.90	2	1193.81
	7-195411Ala	19'5" x 4'11" Full Aluminum Invert	204.65	2	409.31
	7-195Hb	19'5" Headwall	1950.48	1	1950.48
	7-195CPb	19'5" Corner Panel	805.15	1	805.15
	7-195WPb	19'5" Additional Wing Panel	648.07	1	648.07
	7-195t	Total	5610.00	XX	7816.30
46	7-19561114a	19'5" x 6'11" 1.4' Cover 3-Sided Shell	720.77	2	1441.55
	7-19561120a	19'5" x 6'11" 2.0' Cover 3-Sided Shell	668.71	2	1337.42
	7-19561130a	19'5" x 6'11" 3.0' Cover 3-Sided Shell	587.93	2	1175.86
	7-195611Ala	19'5" x 6'11" Full Aluminum Invert	204.65	2	409.31
	7-195Hb	19'5" Headwall	1950.48	1	1950.48
	7-195CPb	19'5" Corner Panel	805.15	1	805.15
	7-195WPb	19'5" Additional Wing Panel	648.07	1	648.07
	7-195t	Total	5585.76	XX	7767.83
47	7-1995814a	19'9" x 5'8" 1.4' Cover 3-Sided Shell	655.25	2	1310.50
	7-1995820a	19'9" x 5'8" 2.0' Cover 3-Sided Shell	705.51	2	1411.03
	7-1995830a	19'9" x 5'8" 3.0' Cover 3-Sided Shell	617.55	2	1235.10
	7-19958Ala	19'9" x 5'8" Full Aluminum Invert	210.94	2	421.87
	7-199Hb	19'9" Headwall	2051.02	1	2051.02
	7-199CPb	19'9" Corner Panel	854.52	1	854.52
	7-199WPb	19'9" Additional Wing Panel	55.65	1	55.65
	7-199t	Total	5150.43	XX	7339.68
48	7-19107814a	19'10" x 7'8" 1.4' Cover 3-Sided Shell	749.50	2	1498.99
	7-19107820a	19'10" x 7'8" 2.0' Cover 3-Sided Shell	719.88	2	1439.75
	7-19107830a	19'10" x 7'8" 3.0' Cover 3-Sided Shell	613.96	2	1227.92
	7-191078Ala	19'10" x 7'8" Full Aluminum Invert	210.04	2	420.08
	7-1910Hb	19'10" Headwall	2142.57	1	2142.57
	7-1910CPb	19'10" Corner Panel	951.46	1	951.46
	7-1910WPb	19'10" Additional Wing Panel	755.78	1	755.78
	7-1910t	Total	6143.17	XX	8436.54
49	7-2016614a	20'1" x 6'6" 1.4' Cover 3-Sided Shell	731.54	2	1463.09

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item#	Span x Rise	Unit Cost	Quantity	Cost
	7-2016620a	20'1" x 6'6" 2.0' Cover 3-Sided Shell	731.54	2	1463.09
	7-2016630a	20'1" x 6'6" 3.0' Cover 3-Sided Shell	670.51	2	1341.01
	7-20166Ala	20'1" x 6'6" Full Aluminum Invert	210.94	2	421.87
	7-201Hb	20'1" Headwall	2149.75	1	2149.75
	7-201CPb	20'1" Corner Panel	902.09	1	902.09
	7-201WPb	20'1" Additional Wing Panel	719.88	1	719.88
	7-201t	Total	6116.25	XX	8460.78
50	7-2038514a	20'3" x 8'5" 1.4' Cover 3-Sided Shell	762.96	2	1525.92
	7-2038520a	20'3" x 8'5" 2.0' Cover 3-Sided Shell	749.50	2	1498.99
	7-2038530a	20'3" x 8'5" 3.0' Cover 3-Sided Shell	682.18	2	1364.35
	7-20385Ala	20'3" x 8'5" Full Aluminum Invert	210.04	2	420.08
	7-203Hb	20'3" Headwall	2235.02	1	2235.02
	7-203CPb	20'3" Corner Panel	1185.73	1	1185.73
	7-203WPb	20'3" Additional Wing Panel	978.38	1	978.38
	7-203t	Total	6803.81	XX	9208.48
51	7-2044614a	20'4" x 4'6" 1.4' Cover 3-Sided Shell	762.96	2	1525.92
	7-2044620a	20'4" x 4'6" 2.0' Cover 3-Sided Shell	724.36	2	1448.73
	7-2044630a	20'4" x 4'6" 3.0' Cover 3-Sided Shell	724.36	2	1448.73
	7-20446Ala	20'4" x 4'6" Full Aluminum Invert	210.04	2	420.08
	7204Hb	20'4" Headwall	1925.35	1	1925.35
	7204CPb	20'4" Corner Panel	756.68	1	756.68
	7204WPb	20'4" Additional Wing Panel	612.16	1	612.16
	7204t	Total	5715.92	XX	8137.64
52	7-2067314a	20'6" x 7'3" 1.4' Cover 3-Sided Shell	718.98	2	1437.96
	7-2067320a	20'6" x 7'3" 2.0' Cover 3-Sided Shell	764.76	2	1529.51
	7-2067330a	20'6" x 7'3" 3.0' Cover 3-Sided Shell	686.66	2	1373.33
	7-20673Ala	20'6" x 7'3" Full Aluminum Invert	216.32	2	432.64
	7-206Hb	20'6" Headwall	2250.28	1	2250.28
	7-206CPb	20'6" Corner Panel	950.56	1	950.56
	7-206WPb	20'6" Additional Wing Panel	755.78	1	755.78
	7-206t	Total	6343.34	XX	8730.06
53	7-2075314a	20'7" x 5'3" 1.4' Cover 3-Sided Shell	810.53	2	1621.07
	7-2075320a	20'7" x 5'3" 2.0' Cover 3-Sided Shell	774.63	2	1549.26
	7-2075330a	20'7" x 5'3" 3.0' Cover 3-Sided Shell	673.20	2	1346.40
	7-20753Ala	20'7" x 5'3" Full Aluminum Invert	224.40	2	448.80

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line #	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-207Hb	20'7" Headwall	2019.60	1	2019.60
	7-207CPb	20'7" Corner Panel	805.15	1	805.15
	7-207WPb	20'7" Additional Wing Panel	648.07	1	648.07
	7-207t	Total	5955.58	XX	8438.34
54	7-20108114a	20'10" x 8'1" 1.4' Cover 3-Sided Shell	736.03	2	1472.06
	7-20108120a	20'10" x 8'1" 2.0' Cover 3-Sided Shell	780.91	2	1561.82
	7-20108130a	20'10" x 8'1" 3.0' Cover 3-Sided Shell	702.82	2	1405.64
	7-201081Ala	20'10" x 8'1" Full Aluminum Invert	224.40	2	448.80
	7-2010Hb	20'10" Headwall	2349.92	1	2349.92
	7-2010CPb	20'10" Corner Panel	1185.73	1	1185.73
	7-2010WPb	20'10" Additional Wing Panel	978.38	1	978.38
	7-2010t	Total	6958.20	XX	9402.36
55	7-20116114a	20'11" x 6'1" 1.4' Cover 3-Sided Shell	815.92	2	1631.84
	7-20116120a	20'11" x 6'1" 2.0' Cover 3-Sided Shell	780.91	2	1561.82
	7-20116130a	20'11" x 6'1" 3.0' Cover 3-Sided Shell	700.13	2	1400.26
	7-201161Ala	20'11" x 6'1" Full Aluminum Invert	224.40	2	448.80
	7-2011Hb	20'11" Headwall	2112.95	1	2112.95
	7-2011CPb	20'11" Corner Panel	853.62	1	853.62
	7-2011WPb	20'11" Additional Wing Panel	684.87	1	684.87
	7-2011t	Total	6172.80	XX	8694.15
56	7-21281014a	21'2" x 8'10" 1.4' Cover 3-Sided Shell	861.70	2	1723.39
	7-21281020a	21'2" x 8'10" 2.0' Cover 3-Sided Shell	784.50	2	1569.00
	7-21281030a	21'2" x 8'10" 3.0' Cover 3-Sided Shell	718.08	2	1436.16
	7-212810Ala	21'2" x 8'10" Full Aluminum Invert	223.50	2	447.00
	7-212Hb	21'2" Headwall	2450.45	1	2450.45
	7-212CPb	21'2" Corner Panel	1234.20	1	1234.20
	7-212WPb	21'2" Additional Wing Panel	1014.29	1	1014.29
	7-212t	Total	7286.72	XX	9874.50
57	7-21361014a	21'3" x 6'10" 1.4' Cover 3-Sided Shell	861.70	2	1723.39
	7-21361020a	21'3" x 6'10" 2.0' Cover 3-Sided Shell	796.17	2	1592.34
	7-21361030a	21'3" x 6'10" 3.0' Cover 3-Sided Shell	716.28	2	1432.57
	7-213610Ala	21'3" x 6'10" Full Aluminum Invert	224.40	2	448.80
	7-213Hb	21'3" Headwall	2208.10	1	2208.10
	7-213CPb	21'3" Corner Panel	902.09	1	902.09
	7-213WPb	21'3" Additional Wing Panel	720.77	1	720.77

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
_ine#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-213t	Total	6429.51	XX	9028.06
58	7-2167814a	21'6" x 7'8" 1.4' Cover 3-Sided Shell	879.65	2	1759.30
	7-2167820a	21'6" x 7'8" 2.0' Cover 3-Sided Shell	807.84	2	1615.68
	7-2167830a	21'6" x 7'8" 3.0' Cover 3-Sided Shell	718.08	2	1436.16
	7-21678Ala	21'6" x 7'8" Full Aluminum Invert	228.89	2	457.78
	7-216Hb	21'6" Headwall	2300.55	1	2300.55
	7-216CPb	21'6" Corner Panel	951.46	1	951.46
	7-216WPb	21'6" Additional Wing Panel	755.78	1	755.78
	7-216t	Total	6642.24	XX	9276.70
59	7-21741114a	21'7" x 4'11" 1.4' Cover 3-Sided Shell	845.54	2	1691.08
	7-21741120a	21'7" x 4'11" 2.0' Cover 3-Sided Shell	776.42	2	1552.85
	7-21741130a	21'7" x 4'11" 3.0' Cover 3-Sided Shell	748.88	2	1497.76
	7-217411Ala	21'7" x 4'11" Full Aluminum Invert	228.89	2	457.78
	7-217Hb	21'7" Headwall	2065.38	1	2065.38
	7-217CPb	21'7" Corner Panel	789.89	1	789.89
	7-217WPb	21'7" Additional Wing Panel	645.37	1	645.37
	7-217t	Total	6100.37	XX	8700.10
60	7-21105814a	21'10" x 5'8" 1.4' Cover 3-Sided Shell	867.08	2	1734.16
	7-21105820a	21'10" x 5'8" 2.0' Cover 3-Sided Shell	841.05	2	1682.10
	7-21105830a	21'10" x 5'8" 3.0' Cover 3-Sided Shell	825.79	2	1651.58
	7-211058Ala	21'10" x 5'8" Full Aluminum Invert	235.17	2	470.34
	7-2110Hb	21'10" Headwall	2393.90	1	2393.90
	7-2110CPb	21'10" Corner Panel	1185.73	1	1185.73
	7-2110WPb	21'10" Additional Wing Panel	978.38	1	978.38
	7-2110t	Total	7327.11	XX	10096.20
61	7-21108514a	21'10" x 8'5" 1.4' Cover 3-Sided Shell	894.01	2	1788.02
	7-21108520a	21'10" x 8'5" 2.0' Cover 3-Sided Shell	841.05	2	1682.10
	7-21108530a	21'10" x 8'5" 3.0' Cover 3-Sided Shell	823.10	2	1646.20
	7-211085Ala	21'10" x 8'5" Full Aluminum Invert	234.27	2	468.55
	7-2110Hb	21'10" Headwall	2147.06	1	2147.06
	7-2110CPb	21'10" Corner Panel	835.67	1	835.67
	7-2110WPb	21'10" Additional Wing Panel	678.59	1	678.59
	7-2110t	Total	6453.74	XX	9246.18
62	7-2216614a	22'1" x 6'6" 1.4' Cover 3-Sided Shell	888.62	2	1777.25
	7-2216620a	22'1" x 6'6" 2.0' Cover 3-Sided Shell	839.26	2	1678.51

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-2216630a	22'1" x 6'6" 3.0' Cover 3-Sided Shell	789.89	2	1579.78
	7-22166Ala	22'1" x 6'6" Full Aluminum Invert	242.35	2	484.70
	7-221Hb	22'1" Headwall	2487.25	1	2487.25
	7-221CPb	22'1" Corner Panel	1234.20	1	1234.20
	7-221WPb	22'1" Additional Wing Panel	1014.29	1	1014.29
	7-221t	Total	7495.86	XX	10255.98
63	7-2219314a	22'1" x 9'3" 1.4' Cover 3-Sided Shell	911.06	2	1822.13
	7-2219320a	22'1" x 9'3" 2.0' Cover 3-Sided Shell	855.41	2	1710.83
	7-2219330a	22'1" x 9'3" 3.0' Cover 3-Sided Shell	821.30	2	1642.61
	7-22193Ala	22'1" x 9'3" Full Aluminum Invert	237.86	2	475.73
	7-221Hb	22'1" Headwall	2249.39	1	2249.39
	7-221CPb	22'1" Corner Panel	887.73	1	887.73
	7-221WPb	22'1" Additional Wing Panel	718.08	1	718.08
	7-221t	Total	6680.84	XX	9506.48
64	7-2237314a	22'3" x 7'3" 1.4' Cover 3-Sided Shell	906.58	2	1813.15
	7-2237320a	22'3" x 7'3" 2.0' Cover 3-Sided Shell	856.31	2	1712.62
	7-2237330a	22'3" x 7'3" 3.0' Cover 3-Sided Shell	809.64	2	1619.27
	7-22373Ala	22'3" x 7'3" Full Aluminum Invert	241.45	2	482.91
	7-223Hb	22'3" Headwall	2340.94	1	2340.94
	7-223CPb	22'3" Corner Panel	936.20	1	936.20
	7-223WPb	22'3" Additional Wing Panel	753.98	1	753.98
	7-223t	Total	6845.10	XX	9659.07
65	7-2268114a	22'6" x 8'1" 1.4' Cover 3-Sided Shell	942.48	2	1884.96
	7-2268120a	22'6" x 8'1" 2.0' Cover 3-Sided Shell	885.93	2	1771.86
	7-2268130a	22'6" x 8'1" 3.0' Cover 3-Sided Shell	832.08	2	1664.15
	7-22681Ala	22'6" x 8'1" Full Aluminum Invert	246.84	2	493.68
	7-226Hb	22'6" Headwall	180.42	1	180.42
	7-226CPb	22'6" Corner Panel	1016.15	1	1016.15
	7-226WPb	22'6" Additional Wing Panel	787.20	1	787.20
	7-226t	Total	4891.09	XX	7798.42
66	7-2295414a	22'9" x 5'4" 1.4' Cover 3-Sided Shell	908.37	2	1816.74
	7-2295420a	22'9" x 5'4" 2.0' Cover 3-Sided Shell	852.72	2	1705.44
	7-2295430a	22'9" x 5'4" 3.0' Cover 3-Sided Shell	807.84	2	1615.68
	7-22954Ala	22'9" x 5'4" Full Aluminum Invert	246.84	2	493.68
	7-229Hb	22'9" Headwall	2525.85	1	2525.85

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-229CPb	22'9" Corner Panel	1219.84	1	1219.84
	7-229WPb	22'9" Additional Wing Panel	1012.49	1	1012.49
	7-229t	Total	7573.95	XX	10389.72
67	7-22981014a	22'9" x 8'10" 1.4' Cover 3-Sided Shell	957.74	2	1915.48
	7-22981020a	22'9" x 8'10" 2.0' Cover 3-Sided Shell	902.09	2	1804.18
	7-22981030a	22'9" x 8'10" 3.0' Cover 3-Sided Shell	845.54	2	1691.08
	7-229810Ala	22'9" x 8'10" Full Aluminum Invert	247.74	2	495.48
	7-229Hb	22'9" Headwall	2147.06	1	2147.06
	7-229CPb	22'9" Corner Panel	805.15	1	805.15
	7-229WPb	22'9" Additional Wing Panel	19.75	1	19.75
	7-229t	Total	5925.06	XX	8878.16
68	7-2306114a	23'0" x 6'1" 1.4' Cover 3-Sided Shell	942.48	2	1884.96
	7-2306120a	23'0" x 6'1" 2.0' Cover 3-Sided Shell	888.62	2	1777.25
	7-2306130a	23'0" x 6'1" 3.0' Cover 3-Sided Shell	861.70	2	1723.39
	7-23061Ala	23'0" x 6'1" Full Aluminum Invert	246.84	2	493.68
	7-230Hb	23'0" Headwall	2619.20	1	2619.20
	7-230CPb	23'0" Corner Panel	1268.31	1	1268.31
	7-230WPb	23'0" Additional Wing Panel	1049.29	1	1049.29
	7-230t	Total	7876.44	XX	10816.08
69	7-2309814a	23'0" x 9'8" 1.4' Cover 3-Sided Shell	978.38	2	1956.77
	7-2309820a	23'0" x 9'8" 2.0' Cover 3-Sided Shell	915.55	2	1831.10
	7-2309830a	23'0" x 9'8" 3.0' Cover 3-Sided Shell	879.65	2	1759.30
	7-23098Ala	23'0" x 9'8" Full Aluminum Invert	247.74	2	495.48
	7-230Hb	23'0" Headwall	2246.69	1	2246.69
	7-230CPb	23'0" Corner Panel	853.62	1	853.62
	7-230WPb	23'0" Additional Wing Panel	683.97	1	683.97
	7-230t	Total	6805.60	XX	9826.92
70	7-23261114a	23'2" x 6'11" 1.4' Cover 3-Sided Shell	954.15	2	1908.30
	7-23261120a	23'2" x 6'11" 2.0' Cover 3-Sided Shell	897.60	2	1795.20
	7-23261130a	23'2" x 6'11" 3.0' Cover 3-Sided Shell	866.18	2	1732.37
	7-232611Ala	23'2" x 6'11" Full Aluminum Invert	246.84	2	493.68
	7-232Hb	23'2" Headwall	2347.22	1	2347.22
	7-232CPb	23'2" Corner Panel	902.09	1	902.09
	7-232WPb	23'2" Additional Wing Panel	719.88	1	719.88
	7-232t	Total	6933.96	XX	9898.73

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
71	7-2347814a	23'4" x 7'8" 1.4' Cover 3-Sided Shell	969.41	2	1938.82
	7-2347820a	23'4" x 7'8" 2.0' Cover 3-Sided Shell	913.76	2	1827.51
	7-2347830a	23'4" x 7'8" 3.0' Cover 3-Sided Shell	879.65	2	1759.30
	7-23478Ala	23'4" x 7'8" Full Aluminum Invert	253.12	2	506.25
	7-234Hb	23'4" Headwall	2445.96	1	2445.96
	7-234CPb	23'4" Corner Panel	950.56	1	950.56
	7-234WPb	23'4" Additional Wing Panel	755.78	1	755.78
	7-234t	Total	7168.23	XX	10184.17
72	7-2368614a	23'6" x 8'6" 1.4' Cover 3-Sided Shell	985.56	2	1971.13
	7-2368620a	23'6" x 8'6" 2.0' Cover 3-Sided Shell	948.76	2	1897.53
	7-2368630a	23'6" x 8'6" 3.0' Cover 3-Sided Sheli	892.21	2	1784.43
	7-23686Ala	23'6" x 8'6" Full Aluminum Invert	252.23	2	504.45
	7-236Hb	23'6" Headwall	2545.59	1	2545.59
	7-236CPb	23'6" Corner Panel	1185.73	1	1185.73
	7-236WPb	23'6" Additional Wing Panel	978.38	1	978.38
	7-236t	Total	7788.48	XX	10867.24
73	7-2389314a	23'8" x 9'3" 1.4' Cover 3-Sided Shell	1001.72	2	2003.44
	7-2389320a	23'8" x 9'3" 2.0' Cover 3-Sided Shell	964.02	2	1928.04
	7-2389330a	23'8" x 9'3" 3.0' Cover 3-Sided Shell	905.68	2	1811.36
	7-23893Ala	23'8" x 9'3" Full Aluminum Invert	258.51	2	517.02
	7-238Hb	23'8" Headwall	2645.23	1	2645.23
	7-238CPb	23'8" Corner Panel	1234.20	1	1234.20
	7-238WPb	23'8" Additional Wing Panel	1014.29	1	1014.29
	7-238t	Total	8023.65	XX	11153.58
74	7-231010114a	23'10" x 10'1" 1.4' Cover 3-Sided Shell	1017.88	2	2035.76
	7-231010120a	23'10" x 10'1" 2.0' Cover 3-Sided Shell	981.08	2	1962.15
	7-231010130a	23'10" x 10'1" 3.0' Cover 3-Sided Shell	919.14	2	1838.28
	7-2310101Ala	23'10" x 10'1" Full Aluminum Invert	258.51	2	517.02
	7-2310Hb	23'10" Headwall	2744.86	1	2744.86
	7-2310CPb	23'10" Corner Panel	1282.67	1	1282.67
	7-2310WPb	23'10" Additional Wing Panel	1050.19	1	1050.19
	7-2310t	Total	8254.33	XX	11430.94
75	7-2405914a	24'0" x 5'9" 1.4' Cover 3-Sided Shell	986.46	2	1972.92
	7-2405920a	24'0" x 5'9" 2.0' Cover 3-Sided Shell	918.24	2	1836.49
	7-2405930a	24'0" x 5'9" 3.0' Cover 3-Sided Shell	869.77	2	1739.55

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
.ine#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-24059Ala	24'0" x 5'9" Full Aluminum Invert	269.28	2	538.56
	7-240Hb	24'0" Headwall	2248.49	1	2248.49
	7-240CPb	24'0" Corner Panel	805.15	1	805.15
	7-240WPb	24'0" Additional Wing Panel	648.07	1	648.07
	7-240t	Total	6745.46	XX	9789.23
76	7-2416614a	24'1" x 6'6" 1.4' Cover 3-Sided Shell	1024.16	2	2048.32
	7-2416620a	24'1" x 6'6" 2.0' Cover 3-Sided Shell	952.35	2	1904.71
	7-2416630a	24'1" x 6'6" 3.0' Cover 3-Sided Shell	920.94	2	1841.88
	7-24166Ala	24'1" x 6'6" Full Aluminum Invert	269.28	2	538.56
	7-241Hb	24'1" Headwall	2341.84	1	2341.84
	7-241CPb	24'1" Corner Panel	853.62	1	853.62
	7-241WPb	24'1" Additional Wing Panel	683.97	1	683.97
	7-241t	Total	7046.16	XX	10212.89
77	7-2437414a	24'3" x 7'4" 1.4' Cover 3-Sided Shell	1542.97	2	3085.95
	7-2437420a	24'3" x 7'4" 2.0' Cover 3-Sided Shell	963.12	2	1926.25
	7-2437430a	24'3" x 7'4" 3.0' Cover 3-Sided Shell	930.81	2	1861.62
	7-24374Ala	24'3" x 7'4" Full Aluminum Invert	269.28	2	538.56
	7-243Hb	24'3" Headwall	2436.09	1	2436.09
	7-243CPb	24'3" Corner Panel	902.09	1	902.09
	7-243WPb	24'3" Additional Wing Panel	719.88	1	719.88
	7-243t	Total	7764.24	XX	11470.43
78	7-2448214a	24'4" x 8'2" 1.4' Cover 3-Sided Shell	1077.12	2	2154.24
	7-2448220a	24'4" x 8'2" 2.0' Cover 3-Sided Shell	979.28	2	1958.56
	7-2448230a	24'4" x 8'2" 3.0' Cover 3-Sided Shell	944.28	2	1888.55
	7-24482Ala	24'4" x 8'2" Full Aluminum Invert	269.28	2	538.56
	7-244Hb	24'4" Headwall	2529.44	1	2529.44
	7-244CPb	24'4" Corner Panel	951.46	1	951.46
	7-244WPb	24'4" Additional Wing Panel	755.78	1	755.78
	7-244t	Total	7506.63	XX	10776.59
79	7-24581114a	24'5" x 8'11" 1.4' Cover 3-Sided Shell	1095.97	2	2191.94
	7-24581120a	24'5" x 8'11" 2.0' Cover 3-Sided Shell	995.44	2	1990.88
	7-24581130a	24'5" x 8'11" 3.0' Cover 3-Sided Shell	957.74	2	1915.48
	7-245811Ala	24'5" x 8'11" Full Aluminum Invert	269.28	2	538.56
	7-245Hb	24'5" Headwall	2623.68	1	2623.68
	7-245CPb	24'5" Corner Panel	1189.32	1	1189.32

ATTACHMENT A - PRICING PAGE

Vendor Name: LANE ENTERPRISES, INC.

ITEM 7

Part 7a - Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b - Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-245WPb	24'5" Additional Wing Panel	978.38	1	978.38
	7-245t	Total	8109.82	XX	11428.24
80	7-2479914a	24'7" x 9'9" 1.4' Cover 3-Sided Shell	1113.92	2	2227.84
	7-2479920a	24'7" x 9'9" 2.0' Cover 3-Sided Shell	1032.24	2	2064.48
	7-2479930a	24'7" x 9'9" 3.0' Cover 3-Sided Shell	972.10	2	1944.20
	7-24799Ala	24'7" x 9'9" Full Aluminum Invert	271.08	2	542.15
	7-247Hb	24'7" Headwall	2717.04	1	2717.04
	7-247CPb	24'7" Corner Panel	1234.20	1	1234.20
	7-247WPb	24'7" Additional Wing Panel	1014.29	1	1014.29
	7-247t	Total	8354.86	XX	11744.20
81	7-24810614a	24'8" x 10'6" 1.4' Cover 3-Sided Shell	1133.67	2	2267.34
	7-24810620a	24'8" x 10'6" 2.0' Cover 3-Sided Shell	1048.40	2	2096.79
	7-24810630a	24'8" x 10'6" 3.0' Cover 3-Sided Shell	984.67	2	1969.33
	7-248106Ala	24'8" x 10'6" Full Aluminum Invert	271.08	2	542.15
	7-248Hb	24'8" Headwall	2810.39	1	2810.39
	7-248CPb	24'8" Corner Panel	1282.67	1	1282.67
	7-248WPb	24'8" Additional Wing Panel	1050.19	1	1050.19
	7-248t	Total	8581.06	XX	12018.86
82	7-2526214a	25'2" x 6'2" 1.4' Cover 3-Sided Shell	1054.68	2	2109.36
	7-2526220a	25'2" x 6'2" 2.0' Cover 3-Sided Shell	982.87	2	1965.74
	7-2526230a	25'2" x 6'2" 3.0' Cover 3-Sided Shell	940.68	2	1881.37
	7-25262Ala	25'2" x 6'2" Full Aluminum Invert	289.03	2	578.05
	7-252Hb	25'2" Headwall	2360.69	1	2360.69
	7-252CPb	25'2" Corner Panel	853.62	1	853.62
	7-252WPb	25'2" Additional Wing Panel	683.97	1	683.97
	7-252t	Total	7165.54	XX	10432.80
83	7-2527014a	25'2" x 7'0" 1.4' Cover 3-Sided Shell	1092.38	2	2184.76
	7-2527020a	25'2" x 7'0" 2.0' Cover 3-Sided Shell	1017.88	2	2035.76
	7-2527030a	25'2" x 7'0" 3.0' Cover 3-Sided Shell	958.64	2	1917.27
	7-25270Ala	25'2" x 7'0" Full Aluminum Invert	289.92	2	579.85
	7-252Hb	25'2" Headwall	2454.04	1	2454.04
	7-252CPb	25'2" Corner Panel	902.09	1	902.09
	7-252WPb	25'2" Additional Wing Panel	719.88	1	719.88
	7-252t	Total	7434.82	XX	10793.64
84	7-2537914a	25'3" x 7'9" 1.4' Cover 3-Sided Shell	1105.84	2	2211.69

ATTACHMENT A - PRICING PAGE

Vendor Name:

LANE ENTERPRISES, INC.

ITEM 7

Part 7a -

Three-Sided Shell and Full Aluminum Inverts, reference section 713.18 of

the Standard Specs. Unit Cost shall be per one foot sections.

Part 7b -

Aluminum Assessories to be used with previous Shell and Invert. Unit Cost

shall be Each.

Part 7t -

		ITEM 7		Estimated	Extended
Line#	Item #	Span x Rise	Unit Cost	Quantity	Cost
	7-2537920a	25'3" x 7'9" 2.0' Cover 3-Sided Shell	1028.65	2	2057.30
	7-2537930a	25'3" x 7'9" 3.0' Cover 3-Sided Shell	88.86	2	177.72
	7-25379Ala	25'3" x 7'9" Full Aluminum Invert	289.92	2	579.85
	7-253Hb	25'3" Headwall	2548.29	1	2548.29
	7-253CPb	25'3" Corner Panel	950.56	1	950.56
	7-253WPb	25'3" Additional Wing Panel	755.78	1	755.78
	7-253t	Total	6767.90	XX	9281.18
85	7-2548714a	25'4" x 8'7" 1.4' Cover 3-Sided Shell	1123.80	2	2247.59
	7-2548720a	25'4" x 8'7" 2.0' Cover 3-Sided Shell	1044.81	2	2089.61
	7-2548730a	25'4" x 8'7" 3.0' Cover 3-Sided Shell	1002.62	2	2005.24
	7-25487Ala	25'4" x 8'7" Full Aluminum Invert	294.41	2	588.83
	7-254Hb	25'4" Headwall	2641.64	1	2641.64
	7-254CPb	25'4" Corner Panel	1185.73	1	1185.73
	7-254WPb	25'4" Additional Wing Panel	978.38	1	978.38
	7-254t	Total	8271.38	XX	11737.02
86	7-2549514a	25'4" x 9'5" 1.4' Cover 3-Sided Shell	1142.64	2	2285.29
	7-2549520a	25'4" x 9'5" 2.0' Cover 3-Sided Shell	1060.96	2	2121.93
	7-2549530a	25'4" x 9'5" 3.0' Cover 3-Sided Shell	1018.78	2	2037.55
	7-25495Ala	25'4" x 9'5" Full Aluminum Invert	294.41	2	588.83
	7-254Hb	25'4" Headwall	2734.99	1	2734.99
	7-254CPb	25'4" Corner Panel	1234.20	1	1234.20
	7-254WPb	25'4" Additional Wing Panel	1014.29	1	1014.29
	7-254t	Total	8500.27	XX	12017.07
87	7-25510214a	25'5" x 10'2" 1.4' Cover 3-Sided Shell	1161.49	2	2322.99
	7-25510220a	25'5" x 10'2" 2.0' Cover 3-Sided Shell	1118.41	2	2236.82
	7-25510230a	25'5" x 10'2" 3.0' Cover 3-Sided Shell	1034.04	2	2068.07
	7-255102Ala	25'5" x 10'2" Full Aluminum Invert	294.41	2	588.83
	7-255Hb	25'5" Headwall	2829.24	1	2829.24
	7-255CPb	25'5" Corner Panel	1282.67	1	1282.67
	7-255WPb	25'5" Additional Wing Panel	1050.19	1	1050.19
	7-255t	Total	8770.45	XX	12378.80

West Virginia Ethics Commission



Disclosure of Interested Parties to Contracts

Pursuant to W. Va. Code § 6D-1-2, a state agency may not enter into a contract, or a series of related contracts, that has/have an actual or estimated value of \$1 million or more until the business entity submits to the contracting state agency a Disclosure of Interested Parties to the applicable contract. In addition, the business entity awarded a contract is obligated to submit a supplemental Disclosure of Interested Parties reflecting any new or differing interested parties to the contract within 30 days following the completion or termination of the applicable contract.

For purposes of complying with these requirements, the following definitions apply:

"Business entity" means any entity recognized by law through which business is conducted, including a sole proprietorship, partnership or corporation, but does not include publicly traded companies listed on a national or international stock exchange.

"Interested party" or "Interested parties" means:

- (1) A business entity performing work or service pursuant to, or in furtherance of, the applicable contract, including specifically sub-contractors:
- (2) the person(s) who have an ownership interest equal to or greater than 25% in the business entity performing work or service pursuant to, or in furtherance of, the applicable contract. (This subdivision does not apply to a publicly traded company); and
- (3) the person or business entity, if any, that served as a compensated broker or intermediary to actively facilitate the applicable contract or negotiated the terms of the applicable contract with the state agency. (This subdivision does not apply to persons or business entities performing legal services related to the negotiation or drafting of the applicable contract.)

"State agency" means a board, commission, office, department or other agency in the executive, judicial or legislative branch of state government, including publicly funded institutions of higher education: Provided, that for purposes of W. Va. Code § 6D-1-2, the West Virginia Investment Management Board shall not be deemed a state agency nor subject to the requirements of that provision.

The contracting business entity must complete this form and submit it to the contracting state agency prior to contract award and to complete another form within 30 days of contract completion or termination.

This form was created by the State of West Virginia Ethics Commission, 210 Brooks Street, Suite 300, Charleston, WV 25301-1804. Telephone: (304)558-0664; fax: (304)558-2169; e-mail: ethics@vvv.gov; website: vvvv.ethics.vvv.gov.

West Virginia Ethics Commission Disclosure of Interested Parties to Contracts

(Required by W. Va. Code § 6D-1-2)

	ame of Contracting Business Entity: Lone Emericas, In Address: Po Bx 854
	Barboursville WV 25504
N	ame of Authorized Agent: Todd Wellman Address: PD Box 854 Barboursville WV 255D
	ontract Number: CRFQ 0803 DOT2000000033 Contract Description: Corrugated Metal Culvert Pipe-Sug
G	overnmental agency awarding contract: WVPOH
	Check here if this is a Supplemental Disclosure
Li: er	st the Names of Interested Parties to the contract which are known or reasonably anticipated by the contracting business tity for each category below <i>(attach additional pages if necessary)</i> ;
1.	Subcontractors or other entities performing work or service under the Contract Check here if none, otherwise list entity/individual names below.
2.	Any person or entity who owns 25% or more of contracting entity (not applicable to publicly traded entities) Check here if none, otherwise list entity/individual names below.
3.	
	Any person or entity that facilitated, or negotiated the terms of, the applicable contract (excluding legal services related to the negotiation or drafting of the applicable contract) Check here if none, otherwise list entity/individual names below.
	services related to the negotiation or drafting of the applicable contract)
Sig	Check here if none, otherwise list entity/individual names below. Date Signed: 10-11-19 Date Verification
Sig N c	Check here if none, otherwise list entity/individual names below. Date Signed: 10-11-19 Date Verification
Sig No Sta	Check here if none, otherwise list entity/individual names below. Date Signed: 10-11-19
Sig No Sta	Check here if none, otherwise list entity/individual names below. Date Signed: 10-11-19 Date Signed: 10-11-19 Date of

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

CONSTRUCTION CONTRACTS: Under W. Va. Code § 5-22-1(i), the contracting public entity shall not award a construction contract to any bidder that is known to be in default on any monetary obligation owed to the state or a political subdivision of the state, including, but not limited to, obligations related to payroil taxes, property taxes, sales and use taxes, fire service fees, or other fines or fees.

ALL CONTRACTS: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vandor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

EXCEPTION: The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that: (1) for construction contracts, the vendor is not in default on any monetary obligation owed to the state or a political subdivision of the state, and (2) for all other contracts, that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

Witness the Following signature: Vendor's Name: Lone Enterprises, Lone Authorized Signature: Date: 10-11-19 State of West Virgins'a County of Lone to-wit: Taken, subscribed, and sworn to before me this 11 day of October , 2019. My Commission expires May 3 , 2023. AFFIX SEAL HERE NOTARY PUBLIC MARK EDWARD MILLER

Notary Public Official Seal State of West Virginia My Comm. Expires May 3, 2023 10 Great Teays Blvd Scott Depot WV 25560 Purchasing Affidavit (Revised 01/19/2018)



10/10/2019

DATE(MM/DD/YYYY) CERTIFICATE OF LIABILITY INSURANCE THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER. IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s) CONTACT PRODUCER Aon Risk Services Central, Inc. FAX (A/C. No.): (800) 363-0105 PHONE (A/C. No. Ext): (866) 283-7122 Chicago IL Office 200 East Randolph E-MAIL ADDRESS: Chicago IL 60601 USA NAIC# INSURERIS) AFFORDING COVERAGE Zurich American Ins Co 16535 INSURER A: INSURED Lane Enterprises, Inc. INSURER 8: 3905 Hartzdale Drive INSURER C: Suite 514 Camp Hill PA 17011 USA INSURER D INSURER E: INSURER F: 570078788909 REVISION NUMBER: COVERAGES **CERTIFICATE NUMBER:** THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. Limits shown are as requested POLICY EFF POLICY EXP (MM/DD/YYYY) LIMITS INSR POLICY NUMBER TYPE OF INSURANCE GL0651022627 04/01/2019 04/01/2020 \$1,000,000 EACH OCCURRENCE COMMERCIAL GENERAL LIABILITY А х DAMAGE TO RENTED PREMISES (Ea occurrence) \$500,000 X OCCUR CLAIMS-MADE \$10,000 MED EXP (Any one person) PERSONAL & ADV INJURY \$1,000,000 570078788909 \$2,000,000 GENERAL AGGREGATE GEN'L AGGREGATE LIMIT APPLIES PER: \$2,000,000 PRO-JECT LOC PRODUCTS - COMP/OP AGG POLICY OTHER COMBINED SINGLE LIMIT (Ea accident) AUTOMOBILE LIABILITY SODILY INJURY (Per person) ANY AUTO BODILY INJURY (Per accident) OWNED AUTOS ONLY SCHEDULED AUTOS Certificate PROPERTY DAMAGE NON-OWNED AUTOS ONLY HIRED AUTOS ONLY FACH OCCURRENCE UMBRELLA LIAB OCCUR AGGREGATE EXCESS LIAB CLAIMS-MADE DED RETENTION WORKERS COMPENSATION AND EMPLOYERS' LIABILITY 없 STATUTE E.L. EACH ACCIDENT ANY PROPRIETOR / PARTNER / EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH) N/A E.L. DISEASE-EA EMPLOYEE If yes, describe under DESCRIPTION OF OPERATIONS below E.L. DISEASE POLICY LIMIT DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required) RE: CRFQ 0803 DOT2000000033. State of WV is included as Additional Insured in accordance with the policy provisions of the General Liability policy. CANCELLATION **CERTIFICATE HOLDER** SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS. State of WV 1900 Kanawha Blvd. E Building 5 Charleston WV 25305 USA AUTHORIZED REPRESENTATIVE An Risk Services Central Inc